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∑
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ψ(x)
OE��#w% � �� �� � F�07c

 � 46��%��76 � H6�����
W (x, p) =

∫ %
η eıpηψ∗(x− η/2)ψ(x+ η/2)

F & O & H
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〈Ô(x, p)〉 =

∫ %
x
%
pW (x, p)O(x, p)

F & O 0 H
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p
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�; 
p
��46�' 1� � ����-Y�������' J%�46�R��8����<�e#M�J-I���/����4�T����; � 46���9�

∫ %
pW (x, p) = 2π |ψ(x)|2 2 ∫ %

xW (x, p) = 2π |ψ(p)|2 F & O / H
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Ŵ q
Γ (~r, k) =

∫ % 4η eık·ηΨ̄q(r − η/2)ΓΨq(r + η/2)
F & O 7 H

�)(# #( /J_QU9U�-)*%- _,+
 f�9/QZ I.-0/)1�U9(B)�(  #U2-%-1$�(?Ie/,( I#T9ZB-1$�G<( U0/43@I?),(65^�9-1$.�



% ��� ��� � � � ����� �
	 ����� �����
	������ ��� � �
� � �
�

4
�
r
���G8�� � �e��-I#)�G46� �  � 46�+����#M � #&-I�

~r
%R0�S!0e#&���+%����9# � ��0��

q
2��� 

k
���� w-I� 7 c � ���� 9��0��L��46��T�0�H&0�8

%��D-r#`��8��e#&��#M � 46�)����#M � 4& 9�����546����-I-Y�
η
O��v���1S!0e#M���!�1#�j6#&�' 10������ � � & 8 0 2

Γ
���N 10���46�G8��9#M ���0��J%R�

* � ��#&�D���58�� � ��#&�' 1-r#`��#M 90���� � ���; 946� � ��-I-I�M2e#�P � #M-I�,460) �������46� � ��-I-Y�,%��W-r#[%������ �  98W46FR ����!0��MO
~1�e�+%	"k46FR 9��� � �<0���� � �! ���������8; X#M � 46� ���e#M � #&-Y�L%����D% � �N 9� � F�0R � 46����2G4&�n���`��-I#&���L�G460R�,0��n��jE�Vc

 9>����h��46�7c ����-I#M � � � �� ��,%e#&�R�?-I�W��8�]^�������' � ��-�%��h�����! ����`%R�w��#&�����&O5f�4&0��<0R�g��jE�N 9>����L0R-Y 9��#�c�����-I#M � c
� � �� ��&2&0R���K 9��-I-I�3����4E��8�%�0����J�	"$���� q�e#M�U�G4&��� � F�-I� 
 + 2 &*" � O6}1460��q#&0R��46����-A"k47���m#&� � 46�w%��J�����e#&��-Y������-I0��
��46������>; 9�������' h%��������W% � ����0R-Y 98��D%e#&���D-I#a������ � 46� & O / O & Ovy_-I-I���,����4 � � ���������' L%�0n]b# �  DS!0��&2v��46�7c
 9�9# � ���������' @#&0��m#&�q��46�Ec�����-r#M ��� � �N 9�M2&-r#D��#&�����J%��1-r#,� � F�-I�J�p"$���� @��-I0R�@H&�9#&��%R�1%R� � #&�' @-I�K 9��#&���N]^���� 
%	" � ���R0�-I� � 46�	25�� h-Y�[������0�-_�����5��0R h��-Y0��W:� 9������8�H6- � H68MO	�v���W8; X#M �� � � �  � #&0EP �; D�e�e#&07P�%R��-|"$4&FET��� 
��46��%R8D%�� � � ���������! <% � �� � ���� ���ORf�460��J��#&- � ���K([�����J% � ����0�-Y �8���2���460�� � 460�-Y46���J��460R�J��-r#&�����J%e#M���J-I�
��8�]^�������! � ��-�%��1dZ��� �  �2&%e#&�R�_-I��S!0���-e-I�K�R��4& �46�[������4 �  q0��[ 9�9#M����]^���� q�!0�-�%	"k8��R����H � �&O!y�P7�58�� � �����' X#&-Y�;c
�����! �2R�M"$���� 1-I�<��8�]^8������! � ��-v#&0������G46�Z%�0���jE�� �>����D��46��%R�;c��R��4& �46�	O �,�)46� � ���' ��,-I�,�����5>����D%��WdZ��� �  
%�����46�� ���S!0���-I�[ 9��#&���N]^���� w%	" � ����0�-Y� � 4&����4 �  h-Y��-Y46��H�%���-A"$#�P7�

z
O�~ � #&�' L%����5460 � 4 � �W������-r#&�����

%e#&���/���W��8�]^8������' � ��-|2�46����������%�%R46���W-r#[��4 j&�����R�h��0��J 9460R�1-Y���J 9��#&���N]^���� ��/%	" � ���R0�-I� � 46� �

W q
Γ(~r, k) =

1

2MN

∫ % 3~q

(2π)3
〈~q/2|Ŵ q

Γ (~r, k)| − ~q/2〉 F & O 2 H

=
1

2MN

∫ % 3~q

(2π)3
e−ı~q·~r〈~q/2|Ŵ q

Γ (~0, k)| − ~q/2〉. F & O # H
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Γ = γ+, γ+γ5,
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k−
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W q
Γ(~r,~k) =

∫ %
k−

(2π)2
W q

Γ(~r, k)
F & O ) H
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f q
Γ (~r, k+) =

∫ % 2~k⊥
(2π)2

W q
Γ(~r,~k)

F & O % H

=
1

2MN

∫ % 3~q

(2π)3
e−ı~q·~r

∫ %
η−

2π
eıη−k+〈~q

2
|Ψ̄q(−η

−

2
)ΓΨq(

η−

2
)| − ~q

2
〉 F & O + H

]b# �  �#&����#&�9#
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f q
Γ (~r, x) =

1

2MN

∫ % 3~q

(2π)3
e−ı~q·~rF q

Γ (x, ξ, t)
F & O &*" H
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x = k+/p+ # � ���

p+ = E/
√

2 =
√

M2
N/2 + ~q 2/8

2
ξ = qz/2E

�� 
t = −~q 2.

��-5j)#L%���07P��Wfq*?� � ���� �46� � ��-I-Y���
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Γ = γ+ �

F q
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Hq(x, ξ, t)γ+ + Eq(x, ξ, t)
ıσ+iqi
2MN

]

U(−~q
2
). y j2ozj|�^}

.0/213;:=?>@=?6^K�=w_24BPVA]gtGBdeQ�=WK@JL/26 y j?oLjw�^}I\:/26�;�47Q�KuJLE:476^K@JzH�47>R�
∫ 1

−1

E
xHq(x, ξ, t) = F q

1 (t)

∫ 1

−1

E
xEq(x, ξ, t) = F q

2 (t) ∀ξ, y j2ozjm�2}
4BKuE�4Z15�7154 ∫ 1

−1

E
x H̃q(x, ξ, t) = g q

A(t)

∫ 1

−1

E
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Hq(x, 0, 0) = q(x), H̃q(x, 0, 0) = ∆q(x)
;!/?Q:>

x ∈ [0, 1] y j2ot{�jm}
Hq(x, 0, 0) = −q̄(−x), H̃q(x, 0, 0) = ∆q̄(−x) ;�/2Q:> − x ∈ [0, 1] y j2ot{^n2}
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t→ 0
6+gh479*K�E:4SKM/2Q�K@4S13=?6:JL�7>R4S;�=?9<;:v^��9MJLd�Q�4 y "ZMZ:&M:JL6�=?P7PB479#q9MJC��AC4S4I`
;�G7>RJC15476^K�=?AL4715476^Ka}ao:��6:4V4a`�K@>@=W;!/2AC=WK@JL/26�4B9RK�6:G7PB479R9@=?JL>M4Z;!/2Q�>���=?P7PBG7E:4B>7o



�!���@����
���������� �������	��� ���
��� ��� � � � j|{
N�O � O � �F	 ��	����
	���
 "���	+
���(#	���(*� ,X�� *��(#��� 	&�k #� 
����� #	���	 �
�$� ��	 ��	�	 (
p�4B9�O�=WPBK@4BQ:>M9�E:4�OT/?>M154�c2>@=w_�JLK@=WK@JL/26:6:4BAC9 =?;:;�=?>M=?JC9R9M4B6eK�4B63;�>MJC6�P7JC;�4�;�/2Q:>�;�=W>@=?15GBKM>MJC9R47>[AC4�_24B>RKM4I`
E�4SE:JL�!Q:9MJL/26rGBAD=?9*K@JLd�Q�4XE:QNc2>M=|_�JzK@/26+o
��6�KM47A+;�>M/�P7479R9MQ:9<6&gt4B9RKuGB_�JLE:4715134B6^K<;�=?9�15479RQ:>@=W�:AC4Wo:p�479
Y�Y�U�9�6:/2Q�9�;!4B>M154BKMKM476^K�;�/2Q:>*K�=?6^K�E+g �f=WP7P7GBE:47>GT jmn V]o�
�/?K@/26�9

T̂ q
µν
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\&4IK

T̂ g
µν
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〈p2|T̂ q,g
µν |p1〉 = Ū(p2)

[

M q,g
2 (t)

PµPν

MN
+ Jq,g(t)

ı(Pµσνρ + Pνσµρ)∆
ρ

2MN
+

dq,g
1 (t)

∆µ∆ν − gµν∆
2

5MN

± c(t)gµν

]

U(p1) y j2ot{2{^}
/��

P = (p1 + p2)/2
\
∆ = (p2 − p1)

4IK
t = ∆2

o�p�4�K@4B>M154
c
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q

PB/26:9R47>R_W=WKMJC/26�AL/
P7=?AC4VE:4
T̂ q

µν

4IK
T̂ g

µν
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Jq(t) =
1

2

∫ 1

−1

E
x x [Hq(x, ξ, t) + Eq(x, ξ, t)] , y j2ot{?�e}

M q
2 (t) +

4

5
dq

1(t)ξ
2 =

1

2

∫ 1

−1

E
x xHq(x, ξ, t). y j2ot{^�2}
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~D⊥ =
~p2⊥

1 − ξ
− ~p1⊥

1 + ξ
. y j2ot{2�^}


�/?KM/26:9<deQ:4SE�=?6�9�AL4X>MGIOT47>R476^K@JL47A+E:4�� >M47JzKw\
/��
~p2 = −~p1 = ~∆/2

\�/26�= ~D⊥ = (1− ξ2)−1~∆⊥
\:4BK

E�=?6:9<AL4X>MGIOT47>M4B6^K@JC4BA�=?QN>R47;�/29<E:Q�;:>M/WK@/26NJL6:JLKMJD=?A ;�/2Q:>�AL47deQ:47A
~p1 = 0

\�/?6�= ~D⊥ = (1− ξ)−1~∆⊥
o

.0/21315476�87/26:9u;�=W>�PB/26:9*K@>MQ�JC>M4�Q:6�;�=?deQ:4IK�E&gt/26�E:4�>M47;�>MG79R476^K�=W6eK�Q:6�GBK�=�K�v:=?E:>M/?6:JCdeQ:4Z=w_24BP£Q:6:4
JC15;:Q:AC9RJC/26

p+
9MQ:>uAC4SP��26:4�E:4�ACQ�13JL�7>M4�4BK�Q:6:4�;�/29MJzK@JC/?6 ~b⊥ E�=?6�9�AL4S;:AD=W6�KM>@=?6�9R_24B>M9R4VE:GIH�6:JL479Zx

|p+,~b⊥〉 =

∫ E 2~p⊥
(2π)2

e−ı~p⊥·~b⊥ψ(~p⊥)|p+, ~p⊥〉 y j2ot{^�2}
=|_?47PZAD=F6:/?>M13=?ACJL9@=WKMJC/263>M47AC=WK@Jz_�JC9RKM4

〈p+
2 ,
~b⊥|p+

1 ,
~b⊥〉 = 2p+

1 (2π)δ(p+
1 − p+

2 )
4BK ∫ E 2~p⊥

(2π)2
|ψ(~p⊥)|2 = 1. y j2ot{2�^}
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〈p+
2 ,−

ξ~b⊥
1 − ξ

|Ôq(~b⊥)|p+
1 ,

ξ~b⊥
1 + ξ

〉 =

∫ E 2 ~D⊥
(2π)2

eı ~D⊥·~b⊥F q
γ+

(

x, ξ,−
∣

∣

∣

~D⊥

∣

∣

∣

2
)

y j2ot{��^}
/��

Ôq(~b⊥) =

∫ E
λ

2π
e−ıλxΨ̄q(−λn

2
,~b⊥)γ+Ψ(

λn

2
,~b⊥) y j2oh� �^}
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x ∈ [ξ, 1] y E:JLKM4XU Y�p�¥XY��a}I\AC479 YZY�U�9rP7/2>R>M479R;!/?6:E:476^K�� A]gtGB13JL9M9RJC/26'E+ghQ:6 deQ�=?>Rs)E:4�OT>@=?PIK@JC/?6 E+ghJC15;:Q:AL9MJC/?6)AL/26:c2JzK@Q:E:JL6�=?AL4
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H�c2Q:>R43j2ot{^}ao Y[/2Q:>
x ∈ [−1,−ξ] \ AC4�;�=?>*K@/26�=?PBKMJLO[E�=?6:9�AC4�;:>R/
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x ∈ [−ξ, ξ] y � ����p��B}�AL479 YZY�U�9 E:G7PB>MJz_2476^K0A�ghG715JC9M9RJC/26iE+ghQ:6:4�;�=?JL>M4udeQ�=?>Ms
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x ∈ [ξ, 1]
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P+
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





1
0
0
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






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n =

1

P+
√

2









1
0
0
−1








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qµ = q+p̃µ + q−nµ + q µ
⊥
o

U�=?6:9�AC4X>RGBOTG7>R476^K@JL47A~E:4Z�0>R47JLK7\:/��
q µ
⊥ = 0

4BK
P µ
⊥ = 0

\:/26�;!4BQ�K�13/?6eKM>M4B><d�Q�43x

P µ = p̃µ +
m̄2

2
nµ, y j2oh�e�2}

qµ = − (2ξ′) p̃µ +

(

Q2

4ξ′

)

nµ, y j2oh�^�^}
∆µ = −(2ξ)p̃µ + (ξ)m̄2nµ + ∆µ

⊥
4IK y j2oh�e�2}

q′µ = qµ − ∆µ = 2 (ξ′ − ξ) p̃µ +

(

Q2

4ξ′
− ξm̄2

)

nµ − ∆µ
⊥ y j2oh�^�^}

=w_?47P

m̄2 = M2
N − ∆2

4
y j2oh� �^}

2ξ′ =
P · q
m̄2

[

−1 +

√

1 +
Q2m̄2

(P · q)2

]

Bj→ xB

1 − xB

2

y j2o¢���^}

2ξ = 2ξ′
Q2 − ∆2

Q2 + m̄2(2ξ′)2

Bj→ xB

1 − xB

2

y j2o¢�
jm}
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eıq·z = eı(q+z−+q−z+)
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Â(x)B̂(y)
x→y→

∑
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∞
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∞
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µ1µ2...µn

OT/2>R134B6^KVQ�6:43�:=?9M45P7/215;:AL�BK@4fE&gt/2;�G7>M=WK@4BQ:>M9ZAC/�Pw=WQ
`!\+AC4B9
z(µ1zµ2 . . . zµn)

9M/?6eK
E:479u;�/2AL��6 �215479<v�/213/?c2�76:4B9u4BK�9@=?6�9uKM>@=?PB4?\�4IK�AL479<PB/
4��3PBJC4B6eKM9
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Ôµ

V,q = Ψ̄qγ
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V,q = Ψ̄qγ

µγ5Ψq y j2o¢�2�2}
P7/2>R>M479R;!/?6:E�=?6^KS�iAD=fH�c2Q�>M45j2oLj?o p�ghGBK@=?;�4VPB>MQ:PBJD=?AL4Z;�47>R134IKMK@=?6^K�E:4Z;�=?9R9M4B>X�iAD=fH�c2Q:>R43j2oh�5479RK�AC4
E:GB_?47AC/?;:;!4B134B6^KXE:4B9�P7/�4��5PBJC476^KM9

Cτ,n(z
2)
476�;�Q:JC9R9@=?6:PB4£E:4

αs

=?Q�P7/2Q�>M9�E�Q:deQ:47A =?;:;�=?>M=?JC9R9M4B6eK
E:479VE:JD=?c?>@=?15134B9SE:Q K ��;�479£E�4rP74BQ
` ;:>MGB9M476^KMG79FE�=W6:9£AC=�H�c?Q:>M4�j2o �NdeQ:J$9M/26^KFE�JL_24B>Mc24B6^K@9F;�/2Q:>
AC4793>MGBc2JC/26�93E:4���=?9M9R479�JL13;�Q:AC9RJC/26:9iE:Q d�Q:=?>Ms)=?PBKMJLO y JC6�OT>M=?>M/?Q:c24|}ao WS6 13/26^KM>M4�d�Q�4�AD=b;�=?>RKMJC4
E:JL_?47>Mc?476^K@4F4B9RK�O�=?PBKM/2>MJL9@=?�:AL4�E�=?6:9�AD=3;:=?>RKMJC4�6:/26
q ;!4B>RKMQ:>M��=�K@JL_?4£;�=W>@=?15GBKM>MG74Z;�=?>�AC4B9 Y�Y�U�97o&p«=
;�=?>RKMJC4f>R479RK@=?6^K@45P7/2>R>M4B9M;�/26:E¤=?Q¤E�GB_24BAC/2;�;!4B134B6eKV;�47>RKMQ:>M�:=WK@JzO E�43AC=�;�=?>RKMJC4fE:Q�>M43=?;:;�=?>M=?JC9R9@=?6^K
E�=?6:9uAC4B9<P7/�4��5P7JL476^K@9

Cτ,n(z
2)
o

� JLc2Q:>R4fj2o ��x 
6"Z�%�!5J���J�7:1$ ,=<>�+5J,!5E:
αs

" */' :�50�!:�*?�!*/';,9�!*4$  � ,!" � . $�")�+* �Z,!.�5E: �
γ∗q → γq

M

p�4�;:>R/
PB479M9RQ:9�E:4SO�=?PBKM/2>MJL9@=WKMJC/26N;�47>R134IKuE:4�>MG7GBP7>RJC>M4�A]gtGBd�Q:=WK@JL/26 y j2oh�2�e}09R/2Q:9uAD=FOT/2>R134£x

ı

∫ E 4z eıq·z〈p2|Tjµ(z)jν(0)|p1〉 =
∑

q=u,d,s

∫ E
xFΓ(x, ξ, t, Q2)Cq(x, ξ, Q
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FΓ(x, ξ, t, Q2)
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y _24B>RK@4a` γ∗p → γp
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y _24B>RK@4a` γ∗p → p
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φ ���������
	�����
 = π − φ � ����� o 
�/WK�=?6^K
e(k, λ)N(p1, s1) → e(k′, λ′)N(p2, s2)γ(q2,Λ)

\:AD=F9R47PIK@JC/?6�4��3P7=?P74�9BgtGBP7>MJzK

dσ =
1

4k · p1
|T (λ, s1)|2(2π)4δ4(k + p1 − k′ − p2 − q2)

d3~k′

2E ′(2π3)

d3 ~p2

2E2(2π3)

d3~q2
2ν(2π3)
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|T (λ, s1)|2 =
∑

λ′,S2,Λ

|T ������� |2 + |T ��� |2 + I y j2ot���^}

I = T ������� T ∗��� + T ∗������� T ��� y j2ot��jm}

� JLc2Q:>M4fj?o¢��x?� �75E0��@��'Z")�+*
ep→ epγ
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;:>MJL134<4B6iKM47>R134B9$E�479�_W=?>MJC=?�:AC4B9 Q:9RQ:47ALAC4B9 y 4BK ε = 2xB
MN

Q

}

d4σ

dxBdQ2dtdφ
=

α3xBy
2

8π
√

1 + ε2

∣

∣

∣

∣

T
e3

∣

∣

∣

∣

2

y j2ot�^n2}
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|T ��� |2 =
e6

x2
By

2t(1 + ε2)2P1(φ)P2(φ)

{

s
���
1 sinφ+

n=2
∑

n=0

c
���
n cosnφ

}

, y j2ot�2{^}

|T ������� |2 =
e6

y2Q2

n=2
∑

n=0

{

c
�������
n cosnφ+ s

�������
n sinnφ

}

, y j2ot�?�e}

I =
e6

xBy3tP1(φ)P2(φ)

n=3
∑

n=0

{

cIn cosnφ+ sIn sinnφ
}

. y j2ot�^�2}
p~4B9iP7/�4��5P7JL476^K@9

cI0
\
cI1
\
sI1

4BK
c
�������
0

=W;:;�=?>M=?JC9R9M476^K3=?QkK��uJC9*KRq*n�\
c
�������
1

\
s
�������
1

\
cI2

4BK
sI2

=?;
q
;�=?>RKMJC4B6:6:476^KV=?Q�K��uJC9*KRq {�o � 6�H�6+\

cI3
\
sI3
\
c
�������
2

4IK
s
�������
2

;�>M/|_�JC476�6:476^KVE:479 Y�Y$U�9ZKM>@=?6:9*_24B>M9M4B9
c2ACQ:/?6:JCdeQ:4B9�E:4XK��uJC9*KRq#n
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sI3
4IK
s
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PB479R9MQ:9�� RV\�P7=?ACPBQ:AD=?��AC4X4a`:=WPBK@4B134B6^K
476�K@47>R134B9uE:4SO�=?PBKM47Q:>R9�E�4�OT/?>M154?o

p�4B9�;:>R/2;�=?c^=�K@47Q�>M9�E:4 AC=�ACJCc?6:4�_�JC>RKMQ:47ALAC4�E:4bA�ghG7AL47PIK@>M/?6�� R P7/?6eKMJC4B6:6:476^K�47Q
` =?Q�9M9MJZQ:6:4
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Q2P1 = (k − q2)
2 = Q2 + 2k · ∆, P1 = − 1

y(1 + ε2)
(J + 2K cosφ), y j2o¢�?�^}

Q2P2 = (k − ∆)2 = −2k · ∆ + t, P2 =
1

y(1 + ε2)

{

1 + J +
t

Q2
+ 2K cosφ

}

,

y j2ot�^�2}/��
K2 = − t

Q2
(1 − xB)

(

1 − y − y2ε2

4

) (

1 − t � ���
t

)

×
(√

1 + ε2 +
4(1 − xB) + ε2

4xB(1 − xB)

t− t � ���
Q2

)

, y j2ot�2�^}

−t � ��� = Q2 2(1 − xB)(1 −
√

1 + ε2) + ε2

4(1 − xB) + ε2
≈ M2

Nx
2
B

1 − xB + xBM
2
N/Q

2
, y j2ot���^}

4BK
J =

(

1 − y − yε2

2

) (

1 +
t

Q2

)

− (1 − xB)(2 − y)
t

Q2
. y j2o¢���^}
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sin(nφ)
E:GB;!4B6:E:476^KuE:4�A�ghv:G7ALJCPBJLK@G

λ = ±1
E:4

A�ghG7AC4BPBKM>M/26+o�
�/2Q:9u;:>RG79R476^K@/26�9�JLP7J+AL479u9M4BQ:AC4B9�4a`
;:>M4B9M9MJL/26:9�6:G7PB479R9@=?JL>M479��f6:/?K@>R4�=?>Mc?Q:134B6^K�=WKMJC/26+o
sI1 = 8Kλy(2− y)I

1 CI(F), y j2o¢�
jm}
cI0 = −8(2 − y)R

4 {

(2 − y)2

1 − y
K2CI(F) +

t

Q2
(1 − y)(1− xB)

(

CI + ∆CI) (F)

}

,

y j2o¢�2n2}
cI1 = −8K(2y − y2 − 2)R

4 CI(F). y j2o¢�?{^}
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CI(F) = F1H +
xB

2 − xB
(F1 + F2)H̃ − t

4M2
N

F2E y j2o¢�W�e}

∆CI(F) = − xB

2 − xB
(F1 + F2)

{

xB

2 − xB
(H + E) + H̃

}

y j2o¢�2�2}
/���AL479rO�=WPBK@4BQ:>M9�E:4�OT/?>M154�E:4b.0/215;�K@/?6 y .0/215;�K@/26 ��/2>R1 � =?PIK@/2>R97\u. � � 9@}r97gh4I`
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ξ = ξ′
;:>R�79@}

H(ξ, t) =
∑

q

∫ 1

−1

E
xC−(ξ, x)Q2

qH
q(x, ξ, t), y j2o¢�?�^}

H̃(ξ, t) =
∑

q

∫ 1

−1

E
xC+(ξ, x)Q2

qH̃
q(x, ξ, t), y j2o¢�2�2}

E(ξ, t) =
∑

q

∫ 1

−1

E
xC−(ξ, x)Q2

qE
q(x, ξ, t). y j2o¢�?�^}

p�4B9�6�/m�2=?Q
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αs

ξC∓(ξ, x) =
1

1 − x/ξ − 0ı
∓ 1

1 + x/ξ − 0ı
. y j2o¢���^}

p�4�JC6^KMG7c2>M=?AC4B9 y j2o¢�?�^}a\ y j?o �2�?}04BK y j2o¢�?�^}0E�/26:6:4B6eK�=?Q�15�7154X/2>ME�>M4��

H(ξ, t) =
∑

q

Q2
q P

∫ 1

−1

E
xHq(x, ξ, t)C−(ξ, x) + ıπ

∑

q

Q2
q {Hq(ξ, ξ, t)−Hq(−ξ, ξ, t)}

y j2ot���^}
H̃(ξ, t) =

∑

q

Q2
q P

∫ 1

−1

E
x H̃q(x, ξ, t)C+(ξ, x) + ıπ

∑

q

Q2
q

{

H̃q(ξ, ξ, t) + H̃q(−ξ, ξ, t)
}

y j2ot��jm}
E(ξ, t) =

∑

q

Q2
q P

∫ 1

−1

E
xEq(x, ξ, t)C−(ξ, x) + ıπ

∑

q

Q2
q {Eq(ξ, ξ, t)− Eq(−ξ, ξ, t)}

y j2ot�^n2}
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4BK
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Y =?Q:ALJ-x

c
���
0 = 8K2

{

Q2

t
(2 + 3ε2)

(

F 2
1 − t

4M2
N

F 2
2

)

+ 2x2
B(F1 + F2)

2

}

+ (2 − y)2

{

(2 + ε2)

[

4x2
BM

2
N

t

(

1 +
t

Q2

)2

+ 4(1 − xB)

(

1 + xB
t

Q2

)

]

(

F 2
1 − t

4M2
N

F 2
2

)

+ 4x2
B

[

xB +

(

1 − xB +
ε2

2

) (

1 − t

Q2

)2

− xB(1 − 2xB)
t2

Q4

]

(F1 + F2)
2

}

+ 8(1 + ε2)

(

1 − y − ε2y2

4

) {

2ε2
(

1 − t

4M2
N

) (

F 2
1 − t

4M2
N

F 2
2

)

− x2
B

(

1 +
t

Q2

)2

(F1 + F2)
2

}

, y j2o¢�?{^}

c
���
1 = −8K(2 − y)

{(

4x2
BM

2
N

t
− 2xB − ε2

) (

F 2
1 − t

4M2
N

F 2
2

)

+ 2x2
B

(

1 − (1 − 2xB)
t

Q2

)

(F1 + F2)
2

}

, y j2o¢�W�e}

c
���
2 = −8x2

BK
2

{

4M2
N

t

(

F 2
1 − t

4M2
N

F 2
2

)

+ 2(F1 + F2)
2

}

. y j2o¢�2�2}
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A =
d4σ↑ − d4σ↓

d4σ↑ + d4σ↓ . y j2ot�2�^}
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A =
sI1 sinφ

κ[c ���0 + c ���1 cosφ+ c ���2 cos 2φ] + [cI0 + cI1 cosφ]
, y j2ot�^�2}

κ =
y

xB(1 + ε2)2
. y j2ot�2�^}
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���
n ∼ O
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√

−t/Q2
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� *7$ 1 � #V2?$ /A�OT!��� �!#5$ / � &;*7# < ,"$bH 1  "� #P&!* - $7# �P<?� $7# f $ -V�7 "�;t # � $7#V2	$ / , � 2?$ � # / &!$ G $ - λ 8�_$ -%- $a&!$�# �!< 	 #5$l* -O� 1 $l$ /5-}� 1;1 #  Y <?�A�b-0< ,"$bH"$ -}/%� 6 /%���.- $ / $ � 2?$ � $ �.- 2  # /%4L� (  "�P� $ �OT $7# �OT $ 1 �b/ �
� $ /5� #%$�# 2[(X* � $7#5\ < $~&!$ / � $ �;- #5$ / � ,�$ � 1 #5* ��<?/%<	 "�!/�8 Q  "�!/z�E� 2 �7� 2	$7#  "�!/ $DY 1 2 <	�7<R- $ � $ �.-z� $ -%- $ > # �b��-0<	 "�1  "� #32	$ / *72	$ �D- #  ��!/ & ���!/ 2 �B/ $ �D-0<? �� � 8 W"8 W H!$ - 1  "� #32	$ / 1 T; �-0 "�;/ & ���!/ 2 �i/ $ ��-%<? "� � 8 {q8 {q8� ���  "$#!#%�'&)(*(�#+�,(�-/.'0

]^�'�7 �� ,�$7# /%<? �� $ � �!�;<	- *n&;$ - $ � 1 / H 2 � �7 #%#%$ ��-%<? "� &!$ 

������� � ����� $ - 2?$J&!* �E� 2 � \"$n\"2  � � 2 /% "�.-$ �I$ ��-%� * / 1  "� # �OT���4L� $c,  "< $w$ �9�q-0< 2 <?/%���.- 2?$ - $ � 1 / &!$c#%* > *�#%$ �!� $ � $ /%� #5* 1 � #=2?$ /3/%�7<	�.-0< 2	2 �b- $ � # /&;$ - $ � 1 / &!$_,  2�H�$ - 2	$ / *�2?$ �D- #  "�!/ & < � �;/ * /�8 �_$ -%- $ �7� 2 < �!# ��-0<? �� $ /5-G� # �!��< � 2	$ 1  "� # 2[( < &!$ �.-%<	t��7�b-0<	 "�&;$ / 1 � # -%<?��� 2?$ /`� $ �q- #%$ /Bj�/ * 1 � # ��-0<? ��e� $ �;- #  "� C γ kD8
7 0
/#0 1 
 / F!1,� 	 / ; 1!2 H @ 8 E / F!2 	 1O=�� ; 	S?�� 

7 �U* -O���.-=�!� $ � &!& <R-0<? ��V�! "� ,"$72	2?$ � � ]>IUJ H;&;$ / 1 #  q� *7& � #5$ /3 # < \ <	��� 2	$ /~ "�.- * - * �P<?/ $ /3��� 1  "<	�L-78
� & $'��� � & � �!�+�#��� ��� ��� �+�!�
]^�'�E� 2 < �;# �b-%<? "� $ � * � $�#%\ < $ �� "�!/5<?/5- $n$ �m�!� $ � * -0T; &!$ 1 $7# � $ -%-0���.- &!$ �E� 2 �7� 2	$7#B2	$ / \ ��<	�!/ &!$
�OT!��4L� $w,  "< $bH �,f
�5f 2	$ /3�� $ 6 ��< $ �L-%/ Gi

& ���;/ h
Ei = Gi · ( I:u � i − L~F~u i) j v 8
�"k

L 2 �!/%< $ � # /g/5- # �b- *�\ < $ /c� , �b< $ �.- * - *i$ � , <?/%� \"*�$ / $ -g- $ /5- *7$ /�8z] $ �OT; "< Y &!$i2 � #5* ���D-0<? ��'�;-0< 2 <?/ *7$B$ /5-$ � 1 � # -0<	�7� 2 < $�# � # �!�7<?� 2 8 Q  "�!/M� , <	 "�!/ &)( � �  #%&Q$ / 1 *7#5* 1  "� ,  "< # �;-%< 2 <?/ $�#:2?$ / *D,"* � $ � $ �.-0/ ep →
ep

*72 ��/5-%<?4L� $ / H 4L�!< &  "< ,"$ �.- &  "�!� $�# �!� 1 <	�p�b/%/ $)[ t�� $ - &  "�.- 2 � 1  "/%<R-0<	 "� $ /5- � < $ � �7 "�;�6� $1 �!<?/546� (X$�2?2?$ � $'&!* 1 $ � & 4L� $r&!$r2�( ��� \"2	$p&!$r& < � �;/%<? ��)8 Q  "�!/e� ,  "�!/ �� "�!/5-0�b- * 4L� $ � $ 1 <?�'� $#5$ /5/% # -O��<R- 1 ��/3/5� 6 /0���P� $ �.- & �J>� "� & 8 �_$ -%- $ �
��� $a#%* �b��-0<	 "� &!* t��!<	/%/0�b�L- 2 �Mt�� & �n/ 1 $ ��- #%$g$ �* � $7#5\ < $=&!* 1  �/ *7$bH �! "�!/|� ,  ��!/|- $ �.- *=&!$=#5$ - #  "� ,�$7#|2?$ / t!�!/ &!$ / 1 $ ��- #%$  � - $ �L� $ / 1 � # /5<?�B� 2 �b-%<? "� H
�A��<	/ 2 � 1 #  6� *�& � #%$g&I( � * �;/5- $ � $ �.- &;$:2�(+* 1 �b� 2?$:&;#  "<R- $@& �e/ 1 $ ��- #%$ / (+$ /N- #%*�,�*72	*7$ <?�;/%� 6 /0�b�A� $ �.-#  � �!/N- $ 1  "� # �D- #5$ ���;-% "�A�b-0<	/ *7$bH �! �-0���P� $ �L-M��� YK\"# ��� & /o�b� \"2?$ /M �� 2 �e/N-O�b-%<?/5-%<?4L� $�$ /N-o- #  1
>��b< �!2	$ 8 + <	��� 2	$ � $ �.- Hb2 � #%* ����-%<? "� π0 → γγ / (+$ /5- #%*D,"$�2?*7$ - # 	7/ $ 6 �E�b� $ 8q]^� 1 #  6� *7& � #%$l$ /N- &;* � # <	- $$ � &;* -O�b< 2)& �b�!/ 1 ��� 2 8I 1 � # -0< # &)( �!� $=$ /N-0<	�V�b-%<? "�M<?�!<R-0<?� 2?$|&!$ / \ ��<?�!/ H"2 �a�E� 2 < �!# �b-0<	 "� $ � * � $7#5\ < $3& �P�7� 2  # <?��	�- #%$ 7 �1 #  6� 	 &;$_$ � &!$ � Yo* -0� 1 $ / &  "�.- 2 �=/ $ �7 "� &!$`$ /N- <R- *7# �b-0< ,"$ 8 Ia�B�7 �� # / &!$_2 � 1 #5$ �P< 	 #%$|* -O� 1 $bH  "�w- # < $
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2?$ / *�,�* � $ � $ �L-%/ � &!$ � Y 1 T! �-0 ��!/3j�46�;< 1 #  , < $ �!� $ �.-G�V� *  # <R-O��< #%$ � $ �.- &!$_2 � &;* /%<	�.- *7\�# �b-%<? "� &)( �;�1 <? "��� $ �;- #5$ π0 → γγ k $ � 2?$ /~��/%/5 q��< ���.-|���P� # <?/5-0� 2 /5� #~2?$ 4L� $�2�2?$ 1 T; �-0 "� &!$ 1 2 �!/~T����;- $3* � $�#%\ < $* -O�b<	-3<	�!�7< &!$ �.-E8 : �e� $c\ � #5&!$ 4L� $c2?$ / *D,"* � $ � $ �.-0/ 1  "� #=2?$ /%4L� $72 / 1 2 �;/ &;$ � � � &!$c2[(X* � $7#5\ < $:& �1 T! �-% "�'� * - *M&!* 1  "/ *�$B& ���;/ 2 � ,  "< $ � $ �.- # � 2?$ ��/%/5 q��< *�$ 8	I@<?�;/%< 1  "� # �OT��b46� $o,  "< $  "�p�7 "�!/N- # �!<	-
�!�'/ 1 $ �D- #%$�&!$ �V��/5/ $ <	� , � # < ���.- $ � ,"$ �i�!� $ � $�# -0��<?� $ 1  "/5<	-%<? "� $ -g�!� $ � $7# -O��<	� $B2 � #%\"$ � #@&;$ 1 <?�&!* - $7# �P<?� *7$ 1 � # � * �!/5- $ � $ �.-E8 ]^�A/ $ �7 �� &!$B* -O� 1 $ <R- *�# �b-%< ,"$ �7 ��!/%<	/5- $M$ �9�!� $ �  "�!� 2?$ /%� # -0 "�q- $ /2?$ / ,  �< $ /@��� �� "� # / &!$o2 ��4L� $72	2?$  "�e>���<	- , � # < $7#l2?$w\ ��<	� &!$ �OT���4L� $o,  "< $ 8GI �OT���4L� $ <R- *�# �b-%<? "� $ -1  "� # �OT���4L� $A,  "< $�H  "�  � -%< $ �L-o�!� 1 <	� & �b�!/ 2?$ / 1 $ �D- #5$n&!$ �A��/%/ $ <?� , � # < ���.- $ �� #%#5$ / 1  "� & ���.-� �!� $ � $�# -O�b<?� $ �V�b/%/ $ 1  �� #a2	$ / 1 <? ��!/a� $ �;- #%$ /�8 �_$ -%- $ �V�b/%/ $w$ /N- &!* - $�# �P<?� *�$ 1 � # � * �;/5- $ � $ �.-
j�t!-Ok 1  �� # �OT��b46� $B,  "< $ (ix, iy) 8 I 2 �Pt�� &!$o2 � �  "�!� 2?$ /5� # -% "�;- $ / 2?$ / ,  �< $ / H  "� & <?/ 1  "/ $B&  "�!�&)( �;�V-O� �;2?$ �b� M t!- (ix, iy) H  "�V�7 #5# < \�$l2	$ / \ ��<?�;/ 1 � # �!�A>�����- $ � # Mπ0

M t!-
$ -_ "�J<	- 	 #5$a2 � 1 #  q� *7& � #%$ 8

] $ � # <	- 	 #5$g&)( � #%# �D- &!$ � $ -5- $ <	- *7# �b-0<	 "� $ /N-a4L� $c2 � , � # < �b-%<? "� &!$ / \ ��<	�!/3/% �<	-=� *�\"2 < \"$ � �;2?$ 8
] $ / 1 $ ��- #%$ t!��� 2|&!$ �A��/%/ $ <	� , � # < �b�L- $A&;$V&!$ � Y 1 T! �-0 ��!/B� 1 # 	7/M� $ -%- $ 1 #  6� *�& � #5$J&!$ �7� 2 < C�!# �b-%<? "� $ /N- &  ��!� *7$ t \ � #5$Mv 8 {q8 ]^� #5* /5 2 �;-%<? "� $ �9�V�b/%/ $  � - $ �L� $ j ∼ 7

-9$ < � W y � -9$ <ck $ /N-
�7 "� 1 �b-%< �!2	$ � ,�$ �a�!� $l#%* /5 2 �q-0<? �� $ � * � $7#%\ < $l& � 1 T; �-0 "� &!$lv 8 � � � W . $ <o8 �_$ -%- $  � / $7#N, �b-0<	 "� H2 < *�$ � � $�2?2	$w&;$ /@/5<?�B� 2 �b-%<? "�!/ H � 2 � 1 # <?/ $M$ � �7 �� 1 - $M&;$o2 � 1 T! b-0 "/N-O�b-%<?/5-%<?4L� $w$ - � 2 �P� $ /5� #%$ ���� ��
 � &;$ / �!# �!<	-%/ &!$ / 1 #5* ��� 1 2 <	t��7�b- $ � # / 1 � #32 � 2 � #5\"$ � #}&!$ / 1 < *7&!$ /5-0��� Y H �! "�;/=��� $ � * / � �P & < C
t $7#G2[(X* 46�!�b-0<	 "� y 8 � 8 Q  �- #5$ � $ < 2?2	$ � #5$}$ /5-%<?�A�b-0<	 "� &!$32 � &!* 1 $ � & ���!� $l$ � * � $�#%\ < $3&!$32 � #5* /% 2 �;-%<? "�&!$ 7 � $ /N- h

σE

E
=

0.019

E
⊕ 0.033√

E
⊕ 0.024 j v 8 � k

Jq� # � $ ���7� $ / 1 $ ��- #%$�H  "� 1 $ �;- *7\ � 2?$ � $ �.- ,  "< # � $ -%- $ � $ �.-g�!� 1 <?�w�7 #5#%$ / 1  "� & ���.-c�b�p� * /% ��
η
H - # 	�/ 1 #  6�OT $M&;$ /%�i�V��/5/ $c* -0� �!2 < $ mη ≈ 547

-9$ <B8
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( � $ 1 � # -0< $B&!$ �P "� - # � , ��< 2 �J�� "�!/%<	/5- * � � $ -5- #5$ ��� 1  �<?�.-:�!� $ 1 #  6� *7& � #%$i&!$ �7� 2 < �!# ��-0<? �� $ �
- $ � 1 / 1  "� # 7 ��� � W���8 7 2 / ( � \ <	- &)( � ,  "< # �!� $ � * -%T! &!$ 1 $7# � $ -%-O�b�L- &!$ �7� 2 ��� 2?$�#}2	$ - $ � 1 /_� $ /5� #%*1 � #g2?$ //�=u � / H^&!$ �E� 2 < �!#5$7#:2	$ / , � 2	$ � # / &!$ / 1 � # ���
	D- #5$ /c��/5/% 6�7< * / Hf&!$ � $ -5- #%$ � $ / 1 � # ���
	D- #5$ /& ���!/ 2 � � ��/ $B&!$B&  "�!� *�$ / &!$ �E� 2 < �!# �b-0<	 "� H�$ - &!$ � $ -5- #%$ � *  "� #a2?$ �7 &!$B&!$M#%$ �� "�!/N- # �;��-0<	 "� $ �
<	�!� 2 �����.- � 2 �V>� �<?/ 2 � 2?$ ��-0� #%$�&!$ /c�� $ 6 ��< $ �L-%/ & ���!/ 2 � � ��/ $�&!$i&  "�!� *�$ / $ - 2�( <?� 1 2	* � $ �.-O�b-%<? "�& �p�E� 2 �7� 2f& �e- $ � 1 /l� $ /%� #5* 8 u $ 1 2 �!/ H �! "/��=u � / * -O���.-l�B� 2 -0<	T!<	-%/ H < 2)$ /N-:�b�!/%/5< � * � $ /%/0�b< #%$w&!$& <?/ 1  "/ $7#:&)( �!� $ � * -%T! &!$ 1  "� # �OT! �<?/%< #@2	$ �  "�'T!<	- 2  # /%4L� $ 1 2 �!/5< $ � # /: "�.- * - *i$ � #%$�\ <?/N- #%* /78 : �
/ ( ��-%- $ � & � v - $7# � $ /}�� #%#5$ ��-%<	>�/|<?�.- $�#5,�$ �����.- & ���!/ 2 �:>� # �B� 2?$ 1 $7# � $ -%-0���.- &!$ �E� 2 �7� 2?$7#G2	$ - $ � 1 /
� $ /5� #%*c& �b�!/ 7 � h

• ( �P- $7# � $ �7 ��!/5-0���.- T0
1  �� # �OT���4L� $@,  "< $ �7 #%#%$ / 1  "� & �b�L- 1 # <	�!�7< 1 � 2	$ � $ �.-|��� #5$ -0� #%&A&!$ /

/%< \ ����� YQ& ���;/ 2?$ /o�7� �!2?$ /78 @ < $ �S4L� $ � $ - $7# � $ /5 "<	- $ � 1 # <	�!�7< 1 $P& < � *7#5$ �.- 1  "� # �OT���4L� $,  "< $�H  ��n/ ( �b-%- $ � & � � $ 4L� $ � $ /3�7 #%#%$ ��-%<? "�!/3/5 "< $ �.-3/%<	�A< 2 ��< #%$ / 1 �;<?/%4L� $g2	$ �P "�.-O� \"$a$ /N- 2?$
�
��� $g$ - 2	$ / 2  "� \ � $ � # / &;$ �7� �!2	$ /=/% "�.- 1 #5$ /%4L� $ / *�\ � 2?$ /78

• ( � - $�# � $g&!$ �7 #5#%$ �D-0<	 "� & �e- $ � 1 /=��� ,"$�# - $ZY tv H�&  "�!� * 1 � #32	$ - $ � 1 / &)( <?�.- $7# �b��-0<	 "� &!$2�(+*72?$ ��- #  "�V���J�!< ,"$ �b� &!$:2 �w��< �!2	$a$ -3� $ /%� #5* 1 � #_# � 1!1  # - � 2 � #%* > *�#%$ �!� $ A +Q& �J>���<?/5� $ �b�)8
• ( � - $7# � $ 1 #  1  # -%<? "�!� $72 � 2 � , � 2?$ � #n& � T;<	- �=u � 8l] $ >�� �;# <?�7���.- >� "� # �;<	- 2 � , � 2	$ � #
c = 0.5 �!/ 1 � # �E����� 2 �=u � 8 : � /5� 1!1  "/ $ 4L� $r2 � 2 <?� * � # <R- *e$ /5- , � 2 < &!$ /5� # -0 "�q- $'2 �\ ���P� $ 8

• FG�;t��J< 2 NA�w�!�V- $�# � $a& <	- &!$ 9 -0<?� $DC � � 2 R : �7 #5#%$ / 1  "� & ���.- � �!� $a&!* 1 $ � & ���!� $g$ � * � $7#5\ < $& � - $ � 1 /o� $ /%� #5*�H �7� #B2	$ /B/5< \ ���b� YQ&!$n\"# �b� &!$ ��� 1 2 <	-0� &!$ 1 ��/%/ $ �.- 2?$ / $ �;< 2_& � & <?/5� # < C
�A<	���b- $ � # 1 2 �!/)- : -}j 2?$ - $ � 1 / &!$ �P "�.- *�$G* -O�b�L-^t Yq* kD8 FG� 1 # <?�;�7< 1 $ < 2�$ /N- 1  "/5/%< �!2?$G&!$G&;* - $�#NC
�A<	� $7# � $ -5- $�&!* 1 $ � & ���!� $ � 1 � # -0< #:&!$i2 �V>� # � $B& �K/%< \ ��� 2 8 Q * ���!�P "<?�P/@< 2 $ /N-w/%� 6 /0�b�L-1  "� # �! "/ � $ /% "<	�!/ &)( �;-0< 2 <	/ $7# �!� $ 1 � # ��� * - # <?/0��-0<? �� 1 T * �! "� * �! 2  \ <	46� $ 8 I 1 # 	�/ 1 2 �!/5< $ � # /
- $ �.-0�b-0< ,"$ / Hf2?$ � $ < 2?2	$ � # �OT! "< Y 1  "� #g2 �V>� # � $B&!$ � $ -%- $P&;* 1 $ � & �b�!� $ / $ - #  "� ,�$ ��- #5$ �!� $
>� # � $ T N 1 $7# �  2 <?4L� $ 8

]^�B>� # �B� 2?$g#5* /5�!�V�b�L-=� $ / & < � *7#5$ �.-0/3- $7# � $ / $ /5- &  "�!� *7$ 1 � #gh

t 7 � = T0 + tv + c× �=u � +
β

I:u � − L~F~u − α
j v 8 ] k

 �� α �7 #5#%$ / 1  �� & �b�g/ $ �;< 2"& � & <	/%� # <?�P<?�!�b- $ � #I$ - β 1 $7# � $ - &)( � * �!/5- $7#^2 �}�7 "� # � � #5$|&;$G2�( T<N 1 $7# �  2	$1  "� #o2?$ -%<?� $DC>� � 2 R 8 7 2}$ /5- 1 2 �!/ * � & <?��< $ � Y &)( �;-%< 2 <	/ $�# I:u � − L~F~u 4L� $n2[(X* � $7#5\ < $ Ei �7 ��A� $, � # < � �;2?$ 1  "� #w2 � 1 � # �b� * - # <	/0�b-%<? "� & �Q-0<	� $ZC>� � 2 R H �7� #w2 � �E� 2 < �!# �b-0<	 "� $ � * � $7#5\ < $�$ /5-B/5�!/%� $ 1 C
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�5f $DY ���D- $ � $ �L-BI:u � − L~F~uB8

] $ / &!$ � Y 1 # <?�!��< 1 � 2?$ / & < 6 �7� 2 - * / #5$ �!�� "�.- #%*�$ /G�b�o�7 �� # / &!$_2 �l�P<?/ $ �b� 1  "<?�.- &!$_2 � 1 #  6� *7& � #%$
�b�;-0 "�A�b-%<?4L� $ 1 $7# � $ -%-O�b�L- 2	$ �E� 2 �7� 2 1  "� # �OT!��4L� $w,  "< $c&!$ /3- # < 1 2?$ -0/ (T0, α, β) /5 "�.- h
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• ( � �!# �!<	- &;$ >� �� & <	� 1  # -O���.- � � ��/5/ $c* � $7#%\ < $c$ - 1 # 	7/ & � >���<?/5� $ �b�)8
• ( � $ /N-O�b-%<?/N-0<?4L� $g2 <?�P<	- *7$ � T��b�;- $c* � $7#%\ < $g& ���;/ 2	$:&  "�A��<?� $g&)( <	�.- *7# ��- 1  "� #=2 � 1 T<N6/5<?4L� $ 8

� & $ ��� � & ���'�+� � � �,�q� ( ��� � � � � �����%� � � � � � � � � � $-��& � �
Iat�� &!$'2	$�,�$7#J2	$ / & < 6 �7� 2 - * / 1 #%* / $ �.- *7$ / 1 #5* � *�&!$ �P� $ �.- H �; "�!/ � ,  "�;/ 1 #  6� *�&!*'&!$'2 �K>���d7 "�
/%�!< , �b�L- $�h

• L  �� # �OT���4L� $J,  "< $bH  �� �7 "�;/5- # �!<	- 2�( T!<?/N-0 \�# ���P� $�& �Q- $ � 1 / $ � #%$�\ <?/N- #5*J$ �S>� ��!��-%<? "� &;$
��� ��������� � � &!$A2 �n�OT�� #5\"$ �� 2?2	$ �D- *7$bH �,f
�5f

c × �=u � $ �K>� "�!�D-0<? �� &!$ 1I:u � − L~F~u 8>I@<?�;/%< 2 �\"# �b� &!$ /N-O�b-%<?/5-%<?4L� $ � � ��/%/ $n* � $�#%\ < $ / $ - #  �� ,"$n&!* 1 2  N *7$ /%� # �!� $n2 � #%\"$A\ ���P� $ 8 Q  "�!/#%$ /5- #5$ < \ �! "�!/A� 2  # / 2�( T!<	/5-0 \"# ���P� $ � �;� $ � �b� &!$e&!$92 � #%\�$ � #�v � �!/J�b�;-0 "� #P& � 1 <	� &!$
�7 ����7< &!$ �!� $�H $ -i� *�\"2 < \"$  "�;/ 2?$ / � <?�;/ &  "�.- 2?$ �7 "�.- $ �L� $ /5-��P "<?� &;#%$ 4L� ( �!�m� $ �L-%< 	�� $J& �� <?� &!$ �7 "�.- $ �L�J�A� Y <?�B�!�e8 �_$ �7< 1 $�# � $ - &!$ - # � , ��< 2?2?$�# � ,"$ � &!$ /_T!<	/5-0 \"# ���P� $ / 1 #  1 #%$ /78I 2  # / 1  "� # �OT���4L� $ � <	� $ � 1I:u � − L~F~u 2 � & <	/5- # < � �q-0<? �� $ � c× �=u � $ /5- � * �!/5- *7$ � ,�$ �`�!� $\ ���!/5/%< $ �!� $ 8 I@<?�;/%<f�! "�;/l � - $ �! "�!/ 2 � 1  "/%<R-0<? �� & � 1 <?� &!$ �7 ����!�7< &!$ �;� $ j , � 2?$ � # �P N $ �!� $&!$|2 � \ ���!/5/%< $ �!� $ k $ �M>� "�!��-%<? "� &!$ 1I:u � − L~F~u 8 �_$_&!$�# �!< $7# T!<?/N-0 \"# ���P� $G$ /5-G� * �!/5- * � ,"$ ��!� $B&;#  "<R- $ �bt�� &)(  � - $ �!< #@2 � 1  "/%<R-0<? �� & � 1 <?� &!$ �7 �
�7< &!$ �;� $ 1  "� # I:u � = 1000 8 Q  "�!/
� ( � ,  "�!/ 1 ��/:- #  "� ,"*i&!$ 1 #  q� *7& � #%$ /%� 6 /%���A� $ �.- #  � �!/N- $ 1  "� # - #  "� ,�$7# � $ -%- $ 1  "/5<	-%<? "�&!$ 1 �!<?/ 2 � 1 � # -%< $ � T!���;- $M* � $�#%\ < $M& � / 1 $ �D- #%$ 8 �_$ -%- $ 1 #  q� *7& � #5$o$ /5-:< 2?2 �!/5- #%*7$ t \ � #%$Mv 8 y
j�T��b�;-ZkZ8

• ( �U���;- #5$ T!<	/5-0 \"# ���P� $e$ /5- � 2  # /A� #%*7*bH_&!$ c × �=u � $ �U>� "�!��-%<? "� &!$ I@u � − L~F~uB8�_$ -AT!<?/N-0 \�# ���P� $n#5$ /N- #%$ <?�.- $ /5-A/ *�2?* ��-0<	 "�!� * � 1 � # -%< #�& � 1 <?� &!$ �7 ����7< &!$ �!� $ - #  "� ,"* �2�(+* -0� 1 $ 1 #5* � *�&!$ �.- $�H)& �b�!/@�!� $ � ��� &!$o&!$M2 � #5\"$ � # ±3 �;/ $ -:� ,"$ �o�!� $ 1 $ �.- $ - N 1 <?4L� $M& �
-0<	� $ZC>� � 2 R H t Yq*�$ 1  �� # -% "�;- $ / 2	$ / ,  "< $ /�8 �_$ -%- $ / $ �7 "� &;$ 1 � # -0< $�$ /5-B< 2?2 �!/5- #%*7$ t \ � #%$Av 8 y
j � �b/OkD8)u:���!/c� $ �; "� ,"$�2 T!<?/N-0 \"# ���P� $bH �; "�!/ 1 #%$ �! "�!/ 2 �J�A N $ �!� $�& ���;/g�OT���4L� $�� <?� $ �I:u � − L~F|u $ -a � - $ �! "�;/@��<	�!/%<f�;� 1 #  �t 2^&!$ -0<?� $DC � � 2 R & ���!/ 2 � 1 � # -0< $ T!���;- $w* � $7#%\ < $ 8�@(X$ /5- � 1 � # -%< #`&;$ � $ 1 #  �t 2 46� $M2 �B�E� 2 < �!# �b-0<	 "� $ /N-l � - $ �L� $ 8

: � 1 $ �q- ,  "< #M2 �e>� # � $P&!$ /BT!<?/N-0 \�# ���P� $ /w- $ � 1 / $ �S>� "�!�D-0<	 "� &!$ I:u � 1  "� # �;� 4L��� # -& �r�E� 2  # <	�
	D- #%$ /%� #g2 �At \ � #%$Bv 8 v 8I]^�J�7 "� # � $i$ �'- # �b<	- 1 2?$ <	� �7 #%#%$ / 1  "� & � 2 � 1 � # -%< $ � * �!/5- *7$�H2 � 1 � # -0< $ �7 "� # � $i$ � 1  �<?�.-0< 2?2?*�$M$ /5-w�!� $�$ZY - # � 1  2 �b-0<	 "�)8 : � ,�*7# <	t $ �! �-0���P� $ �L-:46� $P2 �A>� # � $
∼ 1

� 3B4 − ����3 −α

#5* � 2 <?/ $ �!� �  "� � * �;/5- $ � $ �.- 1 T * �! "� * �; 2  \ <?4L� $ 8 : � 1 $ �;- *7\ � 2?$ � $ �.- ,  �< # /%� #
� $ -5- $ t \ � #%$g2 �B/N- # �!��-%� #%$ A + $ � 1 ��4L� $ - & �n>���<	/%� $ ��� H 46�;<f/ $ �A���!<	> $ /5- $:,"$7# / 2?$ � $ �.- #5$ /5 "�!/ 2 �
>� # � $�&!$ � �b� &!$ / & ���!/ 2?$ /o/ 1 $ �D- #5$ /78 : �S�! �- $7# � *7\ � 2?$ � $ �L-M4L� $V2 � 1 #  q� *7& � #%$ �b�;-0 "�A�b-%<?4L� $* �OT! "� $9&!$ - $ � 1 / $ � - $ � 1 / H �7 ��A� $  "� 1 $ �;- 2?$J,  "< # 1  "� #i2 � ,  "< $ �L�!� *�#  � 8 7 2`$ /5-A� 2  # /
� * � $ /%/%��< #5$a&;$ >��b< #%$ �;�V� * �;/5- $ � $ �.- 9 � 2 �g�V�b<?� : 8 : � 1 $ �;- ,  "< # /%� #~2 �:t \ � #%$=v 8 � 2 � &!* 1 $ � & ���!� $&!$n2 � 2 � #%\"$ � #o& � 1 <?� &!$ �� ��
��< &!$ �!� $n$ � >� ��!��-%<? "� &;$e2[(X* � $7#5\ < $A&!* 1  "/ *7$ & ���!/ 2	$ � # <?/5-0� 2 8 Jq� #
� $ -5- $ ���7� $ t \ � #5$�H�2 �B/N- # �!��-%� #%$ A +W& � >���<	/%� $ ��� � {B�!/ 1 � # 1 ��4L� $ - $ /N-l� 2 �b< #%$ � $ �.- , <?/%< �!2?$ �1 � # -%< #`&;$ W �g$ <B8
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/%� #=&!$ /l� # <	/5-O�b� Yn&!$ -%�!� \ /N-O�b- $w&;$ 1 2  "� � � N"���.- * - * /% ��!�A<	/ � & < ,�$7# /=- N 1 $c&!$c# � & <?�b-0<	 "�!/ � ��� � H
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7 0 7 043 / = ��15F5?>=�?�H ; ? ; @�2 = = /10 ? : / 832 	 / @�1!/ ; 1!2 H :
Iat�� &!$i,"*�# <	t $7# � $ / 1 #5*7& <	��-%<? "�!/c� ,�$ � 2?$ / &  "�!� *�$ / H �! ��!/w� ,  "�!/ $ /N-0<?� *i2?$ / &  "/ $ / #%$ d�� $ / 1 � #
�! "/o� # <	/5-O�b� YK$ � � $ /5� # �b�L- &!$ / 1 < *�&!$ /N-O��� Y � ,�$ �V>���<	/%� $ ��� H^&!$P2 � >���d7 ��S/%�;< , ���.- $ 8 Q  "�!/M/%� 1 C1  "/5 "�!/ &)( � �  #%& 4L� $c2�(+$ /5/ $ �.-%< $72f&;$ / &  "/ $ / #%$ d7� $ / 1 � #32?$ /3� # <	/5-O�b� Y 1 #  , < $ �.- & � �!# �;<	- &!$ >� "� &1 T Nq/5<?4L� $ 8 Q  "�!/~/%� 1!1  �/% "�!/ *7\ � 2?$ � $ �L-~4L� $l2?$ / 1 $ ��- #%$l$ � * � $�#%\ < $3&!$ � $ �!# �!<R- &!$ >� "� &�$ /N- � < $ �
�A &!*72 <?/ * 1 � # �;� $ >� # � $`$ZY 1  "� $ �.-0< $�2?2	$ 8 �_$ -%- $ / $ �� "� &!$ T N 1  �-%T 	7/ $l$ /5-|/%� 1!1  # - *�$ 1 � #G&)( ���;- #%$ /
/%<?�o� 2 �b-%<? "�;/ H ��<?�;/%< 46� $ 1 � #`2?$ / &  "�;� *7$ / $72?2	$ / C ���7� $ /78 Q  b-0 "�!/ α 2 � 1 #  � � � < 2 <	- *l&)(+$ � 1 < 2	$ � $ �.-& � # �b�L- 2 � 1  # - $ I:u �@Hq$ - λ 2	$ 1 � # ����	�- #5$a&;* � #  "<?/5/0���;� $:$ZY 1  "� $ �.-0< $�2?2	$a$ � * � $�#%\ < $@& � �;# �!<R- &!$
>� "� & 8 Q  "�;/ 1  �� ,  "�;/3� 2  # / * � # < #%$ 1  �� #_2	$ �!# �!<	- &!$ >� "� &J& � � 2[(X$ � 1 < 2?$ � $ �L- 1 $ � & ���.- 2 � 1  # - $I:u �sh

n(E) = (1 − α)δ(E) + α θ(E)
e−E/λ

λ
j v 8 W � k

 �� θ(E)
$ /5- 2 �A>� "�;��-0<	 "� / $ �!< 2 &!$ D $ � , <?/5< &!$bHI&  ��L- 2 � &!*�# < ,"*7$o$ /5- 2 �P>� "�;��-0<	 "� &!$�2 -0� &!$ u@< # ���

δ(E) 8 Q  ��!/J/0� ,  "�!/ 1 � # �b< 2?2	$ � # /�46� $'2?$ / 1 < *�&!$ /N-O��� Y  "�.-n�!� $ >� # � $p\ ���;/%/%< $ �!� $�H_&  "�.- 2?$ /1  "/5<	-%<? "�!/ µ $ - 2 � #5\"$ � # / σ /5 "�.-l�7 "�!�L� $ / h

G(E) =
1√
2πσ

e−(E−µ)2/2σ2

. j v 8 WZW k
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] $ / 1 $ ��- #%$  � / $�#5,�*3& ���!/ �!� # �;� &!$ 1 < *�&!$ /N-O� 2 � ,"$ �}>���<?/5� $ �b�o�7 #%#%$ / 1  "� & � 2  # / � 2 �=�7 "� ,  2 �;-%<? "�$ �.- #%$ � $ / &;$ � YP& <	/5- # < � �;-0<	 "�!/ H � $ 4L�!<�- # � & �!<	-~�A�b-%T * �A�b-0<	4L� $ � $ �.-G4L� $l2 �g�OT�� #5\"$ �7 2	2?$ ��- *�$ 1 � #2[( I@u �@H  "� $ �;�7 #5$l2[(X* � $7#5\ < $ � $ /%� #5*7$�H 1 $ �q-~/ $ 1 � # -O� \"$�#G&!$ -0 "�q- $ / 2	$ / >���d� "�!/ 1  "/%/5< �!2	$ /G�7 ��A� $2 �B/% "�P� $g&!$ �OT���4L� $ �7 "�.- # < � �q-0<? �� E = E1 + E2

h
S(E) =

∫ ∫

dE1dE2G(E1)n(E2)δ(E1 + E2 − E), j v 8 W {"k
&)(  �� S(E) = (1 − α)

1√
2πσ

e−(E−µ)2/2σ2 j v 8 W y k
+

α

2λ

[

1 − $7# >
(

−E − µ− σ2/λ√
2σ

)]

e−(E−µ−σ2

2λ
)/λ, j v 8 W v k

� $ -5- $V$ZY 1 #%$ /%/%<	 "�S>���<	/0���.-w<?�.- $7#5,�$ �!< #M2 �J>� "�!��-%<? "� &)(+$7#5#%$ � #o$7# > (x) = 2√
π

x
∫

0

dt e−t2 8z] $P#%* /5� 2 -0�b-&;$M2 � 1 #  6� *7& � #%$w$ /N-a< 2?2 �!/5- #%* t \ � #%$wv 8 � 1  "� #3v W ,  �< $ / 1 #  q�OT $ / & �e>���<	/%� $ ��� & ���!/ 2	$ 4L��� &!# ���.-$ � T����;- � &;#  "<R- $ 8 : � 1 $ �;-l� 1!1 #5* ��< $7# 1  "� #`2?$ / ,  "< $ / 2	$ / 1 2 �!/ *72  "< \ � *7$ / & �n>���<	/%� $ ���n/%� # � $ -5- $
t \ � #%$ 4L� $w2 �B/%< \ �!<Rt��E�b-%<? "�n/N-O�b-%<?/N-0<?4L� $c&!$ / #5* /5� 2 -0�b-0/ $ /N-@� # <R-0<?4L� $ 8MI ,�$ �w�!� $ - $�2?2?$ /N-O�b-%<?/N-0<?4L� $bH
< 2 � (X$ /5- 1 �b/ 1  �/%/%< �!2?$a&!$ � $ /5� #%$�#`2?$ / &  "/ $ / #5$ d7� $ /=� ,"$ �g� $ -5- $ � * -%T! &!$ ��� C�&!$�2 � & �V46�!�b- # < 	7� $
� ���!� $ �����08

]^� 1 #  � � � < 2 <	- * &)(+$ � 1 < 2	$ � $ �.- & � # ���.- 2 � 1  # - $ I@u � �b-5- $ <	�.- 60%
& ���!/ 2?$ /^� # <?/N-O��� Yc2?$ / 1 2 �!/1 #  6�OT $ / & �B>��b<?/%� $ ��� $ - &!* � #  "<	- # � 1 < &!$ � $ �.- � { � H�v!H { H 8�878�� & ���!/ 2?$ / �7 "� #  "�!� $ /G/%�;< , ���.- $ /78"] $1 � # ����	�- #%$ λ 4L�����.- � 2 �;< , �b�;-`�b� 1 2 �!/ 80

-9$ < H �!� $ >���< �;2?$`, � 2?$ � # - # � & �!<	/0���.- 2 � &!* � #  �<?/%/%���!� $# � 1 < &!$g& �e/ 1 $ ��- #%$w$ � * � $�#%\ < $ <?�!��< &!$ �L-l�� "� 1 $ �;/0���.- $ �e4L� $72 46� $ /5 # - $w2	$ /3>� # - $ / 1 #  � � � < 2 <R- * /&I(X$ � 1 < 2?$ � $ �L-w�b�S� $ �.- #%$ 8 Q  �-0 ��!/ 2	$ / 2 <	�A<R- $ / &!$ � $ -5- $ 1 #  6� *�& � #%$9hf2?$ / ,  "< $ / $ � �!2	$ �S/5� #w2 �
t \ � #%$ev 8 � /% "�.- &!$ / ,  "< $ / 1  "� #�2?$ /%4L� $72 / 2	$ � $ �L- #%$9& � 1 < *7&;$ /5-0� 2 � * �!/N- * � (+$ /5- 1 ��/ 2?$ ���7� $
4L� $i2  # /54L� $o2[(  "� 1 #%$ � & �!� # �;�'/0���!/a>���<?/5� $ �b�)8!Lz "� # � $ / ,  "< $ / � >� # -@-O�b� Y &I(X$ � 1 < 2?$ � $ �L- Hx2?$1 < *7&;$ /5-0� 2x2  # /%4L� (  "� 2?$ � $ /%� #5$ � ,�$ �a>��b<?/%� $ ���P/ $ - #  "� ,�$ -% "� *  "� # / 1 2 �!/ � ��/ H � $ 1 $ � & ���.- &;* 1 2 ��� *
- # 	�/ 2?*7\�$7#%$ � $ �.- H;&;$:2�(  #%&;#%$:&)( �!�n "� &;$ � Y �E�����b� Y 8SIat�� &!$ �7 "� 1 #%$ � &!#5$ � $ 1 T * �! "��	7� $ �! "�!/
� ,  "�!/l � / $�#5,�*o2?$ /=/%< \ ����� Y $ �9/5 # -%< $c&!$ � $ /a� # <	/5-O�b� Y H�$ -l�7 "�;/5-O��- * �!� �  ,"$7# /%T! 6 �-��O8MI 2  # /=4L� $2	$ /5< \ �!� 2^&!$�,6# �b<	-l-0 "� *  �� # / #%$ /N- $�# � *�\ �b-0<R> H �!� $ /%�b-0� # �b-%<? "� & � 1 #5* ��� 1 2 <Rt��E��- $ � # 1 $ �q-:<?� & �!< #5$&;$ - $72 /�/5< \ ���b� Y 1  "/%<R-0<	>�/�8G]f # /54L� $p2[( I@u � <	�L- 	 \"#5$ 2 �'�OT�� #5\"$9& � /%< \ ��� 2[H �!� $ �7 �� 1 $ �!/%�b-0<	 "�
� # -0<Rt��7< $72	2?$ � 1!1 � # ���?- & ���!/G� $ /~/%<R-0���b-%<? "�;/78 �_$ � * �7���!<?/5� $}$ /N- � 2[(  # < \ <	� $|& � 2?*7\�$7# &!* 1 2 �b� $ � $ �.-&;$ / 1 < *�&!$ /N-O��� Ye2  # /%4L� (  "� 2?$ /3� $ /5� #%$ � ,"$ �w>��b<?/%� $ ��� H 1  �� #32?$ / ,  "< $ / 2?$ / 1 2 �!/=�b�9� $ �.- #5$ 8 �@(+$ /5-� 2[( � 1;1 #  Y <?�A�b-0<	 "�J �� 2[(  "� � *�\"2 < \"$ � $ - $�� $ -l4L� $ �! �- #%$ ����� 2 N6/ $c&!$ / &  �/ $ / #%$ d7� $ / $ /5- , � 2 � �!2?$ 8: � 1 $ �;-`� 2  # /}�7� 2 ��� 2?$�#_2[(X* � $7#5\ < $ �A N $ �!� $@&!* 1  "/ *�$ 1 $ � & ���.- 2 � 1  # - $ I@u �U&!$ W ��� �!/ Hq$ -$ZY - # � 1  2	$7# � $ -5- $@, � 2	$ � # � y � *  "� # / &!$ >���<	/%� $ ��� $ �I$ ��-0<R>�/78q] $ / &  �/ $ /3�� #%#5$ / 1  "� & ���.- $ / 1 $ � ,"$ �L-
�D- #5$ �E� 2 �7� 2	*7$ / $ � �7 "�!�!��<?/5/0���.- 2?$J,  2 �;� $J$ - 2 � &;$ �!/5<	- *n& � � # <?/N-O� 2[H �b<?�!/5<_4L� $ 2?$ >��b��- $ � #i&!$
�� "� ,"$�# /%<	 "� $ � # � &9h 1 # � & = 6.24×107

-9$ < 5 \ 86]^� &!$ �!/%<R- *l& ��-0�!� \ /5-O��- $l&!$ 1 2  "� ��, ���q- d =
8.3

\ 5b��� 3
� � v ��8�] $G,  2 �!� $|& �o� # <?/N-O� 2.$ /5- &  "�!� * 1 � #^2 �`>� # �B� 2	$ v � ����
 = h

3
×(B1+B2+

√
B1B2)�q-0< 2 <?/%���.- 2?$ /~��< #5$ / &!$ / � �b/ $ / H B1

$ - B2 �b<?�!/5<�46� $l2 �gT����;- $ � #~& ��- #  "�!� &!$ �7 "� $ h 8L]^�g�A N $ �!� $&;$}2[(X* � $7#5\ < $~&!* 1  "/ *7$ 1 $ � & ���.- 2 � 1  # - $ I@u �Q$ /N- &  "�!� *�$ 1 � # αλ -9$ < H 2 � &  �/ $ �7 #5#%$ / 1  �� & ���.- $$ /5- &  "�;� &  "/ $ 1  # - $ = 6.24 × 107 × d× v × αλ 8�FG�;t!� Hx2 � &  "/ $M#5$ d�� $c$ � y � *  "� # / , ���;- h
&  �/ $ y � *  "� # / = 30

*  "� # / × 24 T $ � #%$ / 5 *  "� # × 3600 / 5bT $ � #%$ ×
&  �/ $ 1  # - $

180 �!/ j v 8 W � k
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�_$ 4L� $:2�(  "�n� 1!1 $�2?2	$a\ �b<?� &;* - $�# �P<?� * 1 � #`2	$ /ON6/5- 	�� $g&;$ �A ��!<	-% # � \�$l$ /5- 2 � 1 $ �.- $:&;$:2 � &!#  "<R- $
� * �!/5- *7$a& ���!/ 2�(+*�, � 2 ���b-0<	 "� &!$l2 � 2 <	� * � # <	- * j�t \ � #%$ /`{q8 W v k 1  "� # �!� $l,  "< $=&  "�!� *�$ 8 Q  "�;/}� ( � ,  "�;/1 ��/ 1 ��/5-0� � < 2 <?/ $7# 2 � 1 �!<	/%/%���!� $=$ �A/5 # -%< $`& � 2 �b/ $7# &!$ �V�b�!< 	 #%$ tx� �!2?$ 8 L  "� # ,"*7# <	t $�#~2�( T!<?/N-0 # <?4L� $&!$ / \ ��<	�!/ & � 2 ��/ $7#�H �! "�!/|� ,  "�;/ &  ��!� &!* ��< &!*=&!$ �OT! "<	/%< # �!� $3,  "< $ 1 � # -%<?��� 2 < 	 #%$bH�$ - &;$l# � 1!1  # - $7#2?$ / \ ��<	�!/a�7� 2 ��� 2?* /:� ,"$ � 2?$w2 ��/ $7# � � $ -%- $M,  "< $ / 1 * ��<	t�4L� $ 8 Q  "�!/g� ,  ��!/:�OT! "<	/%< �!� $M,  "< $o2 � 1 2 �!/*72  �< \ � *�$=& �A>���<	/%� $ ��� 1  "/5/%< �!2?$bH ��� 
 ��
 
 � #5$ � $D, ���.- 2?$ �P "<?�;/ &;$a&  �/ $ /_���V�� "� # / &!$a2�(+$DY 1 *7# < $ �!� $ 8�_$ -%- $i,  "< $ / 1 * �7<Rt�4L� $�H ��<	�!/%< 4L� $P2?$ / #%* /%� 2 -O�b-%/ 1  "� # �!�K4L��� # - & �Q�7� 2  # <?��	�- #%$bH /% ��L- , <?/5< �!2	$ /
/%� #=2 �ot \ � #%$cv 8 � 8
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�d�i��]4�2�@,��	�	� �����1� ���������&��4����)���E�����B�1���.��;��d��LI����� �������7�3�����3�8, � �	�-6q* ���)�>,����0�3�P���+���"!	���S���+� �
�@, � �	�), �����#!��3�������	� K ��� :

• ���F���&�P4 ���d�����+�-�n���%$
�!4'&

• ���)�X�1�Y��4 �1���X�	� K ��� �76>���)������,��5, ���3�8,N�(&

• ���)��,�� �"!P�	� K �	�)�U���5* �)�Q� �&]Q�5����,N�3�8,N�����(&

• ���F���&�P4 ���d��� K ��� � 6�J �������-,N���+�"!	� �N�-�)&
• ���)�!�=�-�1� �	�5�X� ��� �+*)����� � �	�)�Q�1���*���8,+�X�	��� �*;��d�(&

• ���)�X��� �N���1*�, ���5�N��,��2���P�������8, �N�-�5�>,����)%
0 �]������� �	�5,�� �+� �+*,* �Y�7� ��� , �+���&<�� �
�	�_������/���� ������� ��*)BC* ������� ���-��� �)�h�	�-6q* ���)�>,����h�3�������4�"!	�)�Xe��-�2�����
K �[G.�0�[GZ� �P, �����.f��	�n���&�P* ���5�N��,��2���P�k�	�)���*;��d�)%0/��3�1�*�?�����P���=<3�����Q���l���8, ���)<��-� �Q���3���6�1���X������J
,��2���P�1*�%.2P% M �), *�%32�%('PL����5�"!����*�2�4�"��� ����� ����� �P���8, ���*�1���n���&��4����)�F�	� ��;��d�N�),X���)�n��/���� ��<��3/	�1���
�qGG�)��,T���3�F, ���5<�� �-�65�%7/(� � ����� �P,X�g]P����� K �	� � K �	�1��� � �[G(� �P,�� �����p���*�����p�1�Y��4������?BC� ���+�	�5�+�����8,p�	���
� �+*������),��2���P�;�E�����!�1���Q��/���� �@<3��/	���)���g]P�E* ���2�*���8,.�?�����)%8�U�X� �n�7�-�2�8,;�	�F< ���3Lx���[��� �+�-�5,;�+� �9!��-�-,.�3/	�1�
����, �+�`<��-�1���1� �X���3�P� ���b���3�����T�[G(�3�������`]4�5�j��,��2���"��*�!��	�HL ,���� K �	�@�1�p,;:6�5��,@JO'PLx�),?�[G(*�� ��� ��� ���A������J
# �N�3���L�(�=�3����/	���X�	�6�)���PB �+�3�>,�� �8���)�^���+*)�	����,��2�3���^�	���_������/���� �&]0���&��4����)�^�	���*;��d��� � �k�	�)����/&J
��� �@<3��/	���)�`�g]P�E* ���2�*���8,.�?�����)%=<��]�HG(�3/������	���3L}�7� ���`�cGG�5����,N�3�8,=L=�qG �������+��# �N�3���L�\� ���+���&#3*���* �N�-�cL`�������
�&,����1�2��� �+�3���]�1� �8���)�����+*)�	����,��5������� � �1�Y��4 �1�1� �+���E���+*j��� �'2_�����	� �>!��-�)#����[L � �	�1�"!����q��, � �	�2���?�
e�2�� �pf � �?*�L � M L �3' �c%

-;� �)�����L�)�>,N�-� ��� #3*���* �N�-�S� � � ��1���,D�	�w� � ��� �N���1*�, ���5�N��,��2��� �	�)�D�1�Y��4 �1���h��� �9!A@Y��� K �	�!��3���+�3�	� K �	�Q��G��2���E������%A�d*71B�n�E�����3���)�_���2��, ���5/��P,��5�����\���;��� ��,+������e
;������.fgL ���	�X<�* ���5,N�3/	�1�!��]Y, �+�-��J
,��2���"�	�]� ����BC���	�),��2���P� ��� K �	�1� ��, ���m�"!��-�-]"�	�T��� �N���1*�, ���5�N��,��2���"� 1 �P��,N*T#��2�3/��-���)�L�)�8,Q� ���;,N���P,����
�1���?�P������*����F�������	�2�-���)�;���2�+�E���	�5/	���)��%7R>���?* K ����,��5�����?�	� �����P���+�1�-���5�N��,��2�������3���	���8,P�cG(*�<���� �P,��5���
���@� �)�?�	�2�@, ���2/��P,��2���P���)� BC���	��,��5��� �	�B�HGI* �"!	�������

Q2 �[GI��/���� ��<���,��2���[%0/(�������4������� ���F�[G���]Y, �N�-��,��2�3�[L
CED �a�Ot)vcy �;{GF)t��a�IH2�at�~a�q�_�3y@uZ�}yKJ�y@��zHu(t)�}�
�\wML �NF)t�wZ~`zcuZt��d��y�w(t)��wOL ��� "}y�w(wZy

Q2
�`y��QPSR �h�xyOz �}yhwOL {TJ��}wZuIzH~a�`y��`y

�`u3U�~a�cu(t)�F�`~}vHyWV5���NF)y@wZt��}�3yNJ�y��)zo�3y@vczc~avc|a{gzcu(�&y��
αs X
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�3�+��� 	+�2� ���+� �7��� �B���)���	�5��, ���2/��&,��2�3���n�	�b��� �@,N���P��Lh���)<����)�>,@���+�����8,��1� ���E�����]���)� ��; ��� K �����+�3�>,
�	����BC�����),��5����� K �	�n��� ���X�	�F�*��� � �+�����X���3�X�	� ��� ��,����*���8,Te.������� �@,���� �	���1� �)L4�2����* �)���8<���� �P,��5���	�	�)�
/ � ����Lx* K ���a,��2�3� eE*�% �	�8f?�7� ���P� � ��; �

H
L �����@,�� ��� ������/	�54��*�1� ��*������������`f�% R>�0���+��� �)�+� �����	�

�1�Y��* �1�2�+��,��5���	�	��� �*;��d�d���+����4)�	�B�)�A�	� �Y]A*�,.�3�����)% �d� ��G(�3#��-,��qGZ�3/E�����A�[G��2�	�)�>,��5!O� ���1�����2��# �+*����-J
���8,N�;�9!A@Y��� K �	�)�d���"���&��4����F�?�2����� K �	�]�1���XBC�����L�)�X�N��,��2��B��?�2�N���>,6�1���!�)���8, �N�?�2�8,��)�;�1��,B!�*��1��,�� K �	���������� �	�)��L�� �	�2�1�	�g�"!��-�2��� �L�)��� ���5,��g�����1��� �+�3�14�, ����� � � 1 ����,�� �)%�R>�g�"!��-�-] �	�m�2� ��� �N�3��*), ���2�+�aJ
,��2�3�[L K �	� � K �	�0�V� � ��� ���3�����-� ���0�7� ���N������;������)Lx��*),�� �+�*�2���*� � �	��� �-�1���*���8,P�2� ����/����@,��)�+�����	�*� �
�	����� ���5�P,��5�����	������;��d��%
<^�P!��[L}�=<3���>, �[G(�3/E���+��� �>� ��������� ���5�P,��5���n���T���Y��4 �1� �P,��1���5�+*h�E�����>�2����������� �+�-�2�����n�=<����k���3� ��*�J

� �	�-,.��,+��L3�*���8,��2�����P����� ���	�Q�������+���"!	�X�	��,;@Y����
��)#�#����E�����r�1�����+��� �)�+� ��� � 2 /"!E% !&�3��� �+*�BC* �����	���
� �D�	� ��#��N�3���*�p���S�N�-�1�b�1�-�5�g�),p� �&] ��;��d��L%� �j��� �),��2���b�8�*�=�-���*��,P���)�F�3�N@&��*), ���1���?�	���7���2�aJ
���2�+��,��5��� � � B��?�2�����=� �D���3���P� � �+*=�?�),��5���

ep → epγ
���8,n*),+*@�=�-�1� �	�5* �)�.����
"�H%Q/(���n�	� ���	�24 ���)�F�+���8,

�����P���2/������*���8,��	� ���\���),��5,��)� K �	�!� �������)� K �	�X����������/P��� �@<����P��L8�1�-�2�
�	���_�3��* �1�2���+��,��5����� � �0�1�Y��4����
�+���8,����l����� �+��� � . �H%

� ��� � ���o�k� ��� 
���	�� � �  	����"���

3������
���+*)���)�>,+�����^�������E� ��,+,��������),��2���@�2�;<-� �+���2��� K �����������\�`<3����� �&,����1�2��* ���	�(�2����� �N�3��*), ���2�+��,��5���
�����8, �+�-�2�8,�� ����� �*;��d�"���+�3�7����* � ���3��� � �?*3L � M L ��'��c%�Ro� ���3,��-<3�a,��2�3� �����5�	� �5���-�1�D���3���l� ��,+,��
�3�������4�"!	�"�����}<��1���8,��[G �P�	�h�)�����	�-,��5��� �	�5,��"����# �7�-�M@Y�����*� �-�1�5,+*�$.% <r�1���	�E����,��"� ���*�����0�����*���8,N�
�	� $l� ���1�2���	�)� ��; ������� � �+�3���E����, �\� �S<3� ��� ��/	���

x
L K �	�o��GI* � ���5<-���8,P�)���1�*�F�	�)�d�E���M@Y�����*���Q�	�

�	��#���*n��*),�� �+�*�2�P*P����BC���	�),��2�����	�N�2��<3� ��� ��/	���
ξ
%�;h� ���g]4�����	���F�E�����6���)�5�*;��d�

Hq ��,
Eq :

∫ 1

−1

�
x xnHq(x, ξ, t) =

i=n
∑

i=0��� �"!
ξiAq

n+1,i(t) +
���&�

(n, 2)ξn+1Cq
n+1(t),

e#�&%M*}f

∫ 1

−1

�
x xnEq(x, ξ, t) =

i=n
∑

i=0��� �"!
ξiBq

n+1,i(t) −
�1�Y�

(n, 2)ξn+1Cq
n+1(t).

e#�&% M f

R�GI*�#��-���-,N*S�	�)�]�)�4�8�L�����)�>,+�
Cq

n+1

�E�����
Hq �),

Eq �����}<��1���8,p��� ���	�2��*
� M ��� � �+�3,+��� �($��c% 3������
�`<3�����;���+*)���)�>,+*T��� ������� � �+� �+4)#����)�X�	�n�+�����L�P�g]?!	�2/����>,����),+,��n���+��� ���2*�,N*�%8/(�),�,��X�����8, �+�-�2�8,��n�3���aJ
�M@>,�� K ����BC����,��X��* �)���	���X�����2�?��, � �	��, �����;����Rx�������8, 	Q�	�)�����7* �N��,�� �������	��,;:6�2�@,�J M �������3�HG���]&���3�����2���
�	��$��1�2�����[% !7G����O�)��,��	� �*� �1���X�	��� � �����+��� ��,�� �(���1��� �+�3�1*�, ���2�N���>,_�	� �����),��)�L�)�8,i�1��� �*;��d�)LS� ���1�6����,
� �P,N�3�j��,�� K �	�)�L�)�>,��N��,��2��B��?�5,��U����,�� ���L�)�Q�	� ����� � # � ��������	�� �
�"���������peI� �d�Nf�%

%�%'&�%(& ) / 
 
 ��� � � / 
 
 )�
0� ' ) � �5� )�� + 

R[�)�
�P����/	�1���o�	�2�@, ���2/��P,��2���P��e)� ���.f �����8, ���	�_��� �N���1*�, ���5�N��,��2���d�	��� * �1���*���8,N� �	���j�a, ���1� �)�x��*)!����2�@J
�N�3�8,]����� ��;��d��LK�2�8, ���&� �	�5,��S��� � $+*	�1��� � ��� � #

�
� 2 �cL K �	�3�1���p�3����� �54 ���)�8,��-�5���+�-#VBC���	��,��2�3���n�+��� ��J

, �N�?������$.L`�����2� ���)��* �)���P<�� ��,����),
*), ���	�2*��3�����P*),.�?���8��� �,
;�3� @ ���B!�6��5�[L K �	�S�����;* � ���5, ����� ���)< �	� � � 2��H%
R[�)� ����,N�;�[GG�5�1� �	�2���2���	�������U�1���Q<����1���

s
�),
t

�+�3�>,�, �+�-�5,+*��Q�+*)��� �+*)�L�)�8,=L���� � �������3�8, ���	�p, �+�3���@J
BC���+��* �S�	� ����������� �F/	�2�	�5�L�)�����5�����	�����1�����3�P�X�1���n�	� �&] <�� ���2�3/	���)�"�2�P��*����������3�8,����

P
�),

∆
Lo�=<����
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�����TB �+�-�),��2���P�
β

��,
α

�E����,+* ���p��� �X��� K ��� �76 �-�),��5BOL>���3�1�*�\����� ����, �+*S�������B�2��!�# ����� �P% *�% �d�8�)��,
�5�1�E���@,.�3�8,;�	� ��*=�-�1�2��� � K �	�B���),+,���!�#�� �����qGG�)��, K �[G ���D#����2�	�jeC<3��� � � M *��cL7��� �),��2��� 'P%�
8f�%34(���)� K �	�
t = ∆2 = (p1−p2)

2 �+���-,o!P]&*3Lv���)�`�5�1�����2���5�����
p1

�),
p2

�+���8,`�����P���2�P* �+*����`�������L�r�5����*)�V�)�����3�8,��)��%
/��3�>, �N�-� ���)�L�)�>,X� �&]��*;��d�)L	� �p��*)!����5,��5���b�	�)� � �d�X�	�d�V� �P,Q�����	�d���3���)GG�g]P� ���2�*� �(�������L� ���	�
, �N�3�P��BC�����1*����	�����������1� � ���	�5�	�2�*�������2���P�	� �1���3%A/(� � �X��� ���k��� ���L��,����d�	�����3���P*������������"��]&�	�1�����5,��gJ
�*���8,��	�l� �AB �N�?�),��5��� �[G��2�����	�2���2���

ξ
Lr�),��������%� � �D�E���M@Y�����*� �?���5,+*1�qG(U�, ����� �P,+���1��,�� K �����*���8,

�������V���),N*��3Lx�1�-�2���������	�1� K �	���P�3,.�3/������*���8,U��� � �"�2�8,�� �+����*),N��,��5���A�9!A@Y��� K ���3% /����8, �N�-� �����*���8,n� �&]
��;��d��L4���)� � �d�X�[GI���8, �@���&1������k���3��*�,N* ��������*������8,N*����6���b,�� �+�*�����	�"���3�1�E���N���>,�������� ���4� 60�	�
�2�TBC���	��,��5���b�[GI�����	�'!��3���+�3�	� K �	��L��),��	�?�E���+��4��	�)�>,;�����X�[GG�5�8,�� �����+*�,.��,��2���j�+����,�� �-�1���)�	,�� ���L�)���	�
��� �N�3��4), ���F�[G��2�����-��,=%

�`�2#������ �P% * : � ��	 ��� 
��
	����
�������������
F q

Γ �
��
 � ��� �9����� # ��
8�
����������� � �

�
� � �

�
��� �!��	��)�������������

�

Ro�b��� �@,��1��<����),N� ���������1���	�5�cG(*������*���8,d�	���1��, ����� �T�����&JV�	� ��#������-� ��GI* � ���-,F�	� M B����)�����?* K ���5<��aJ
�1���8,��)�Q���3���6���)�XBC���+�1�-���5�+�*���k�	������; ������,;�	��� � �d���������*� :

〈p2|Ψ̄q(−z−)γ+Ψq(z−)|p1〉 =

∫ 1

−1

�
x e−ıxz−P+ {

h+H q(x, ξ, t) + e+E q(x, ξ, t)
}

=

∫ 1

−1

�
β

∫ 1−|β|

−1+|β|

�
α e−ız−(βP++α∆+)

{

h+h
q
V (β, α, t) + e+e

q
V (β, α, t)

}

+
a∆+

2MN

∫ 1

−1

�
α eız−α∆D(α, t)

e#�P%('8f

�21

a = Ū(p2)U(p1) hµ = Ū(p2)γ
µU(p1) eµ = Ū(p2)

ıσµν∆ν

2MN

U(p1).
e#�P%32>f

0 <����Q� ���\�)���8<����8,��2�����)L��������S�E���P<3�����S* � ��� ���+� �", �N������BC�����j�a,��2�3� �V� �+�*�),�,.�3�8,S�	�b, �+���&<�� �\�1���
��;��d� ����� ��,�� ���	�)� � �d��% 0 �5����� :

Hq(x, ξ, t) =

∫ 1

−1

�
β

∫ 1−|β|

−1+|β|

�
α δ(x− β − ξα)hq

V (β, α, t) + θ(1 − x2

ξ2
)Dq

(

x

ξ
, t

) e#�P%Z$�f

Eq(x, ξ, t) =

∫ 1

−1

�
β

∫ 1−|β|

−1+|β|

�
α δ(x− β − ξα)eq

V (β, α, t) − θ(1 − x2

ξ2
)Dq

(

x

ξ
, t

) e#�P%��8f



*`'�� ��� ����� �	��
 ��� �	
 ��� ��� � ��� � 
 �	
�� � ����� � � � 
 


R �Q����*����)�	� �X� �T,�� �+�*�
D

���@, �����i�)��� ��� �),��2�����3�+� ���N���>, K �	�(�2�Q�E��� @&�P���L�2�-���-,N*`����, ���)�+��� �),+* � � ��$ �HL
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Cq
n+1

���3�P���1���X* K ����,��5�����Te#�P% *}f(��,�e �P% M f :

Cq
n+1(t) =

∫ 1

−1

�
z znDq(z, t).

e#�&% ��f
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�����	�r�)���1�*�r�HGI* �"!��3��#��^�	� M �	�5������% !&���n� ���P�7���@,o*),N�3�8, �����@, �����2�8, ��� � ��*�#��5���#< 
54�R

x ∈ [−ξ, ξ] L�3G�����, ���\�g]��)�1�������[G��2�&BC���+�1��,��5���B�5���-��� �������5/	�����)� � � !7% �U�X�	� ����L-���P���!�����8, ���2/��������3���P� ����� ��,����
�a]4� �-�1� :

〈p2|Ψ̄q(−z−)γ+γ5Ψ
q(z−)|p1〉 =

∫ 1

−1

�
x e−ıxz−P+

{

h+H̃ q(x, ξ, t) + e+Ẽ q(x, ξ, t)
}

=

∫ 1

−1

�
β

∫ 1−|β|

−1+|β|

�
α e−ız−(βP++α∆+)

{

h̃+h
q
A(β, α, t) + ẽ+e

q
A(β, α, t)

} e#�P% m f

� 1
h̃µ = Ū(p2)γ

µγ5U(p1) ẽµ = Ū(p2)
γ5∆µ

2MN
γ5U(p1)

e#�P%�
8f
�U�n�j�3���24 ���?,N���&, �SB��?�5,X���2�*��� �?� ��� :

H̃q(x, ξ, t) =

∫ 1

−1

�
β

∫ 1−|β|

−1+|β|

�
α δ(x− β − ξα)hq

A(β, α, t)
e#�P% *,.8f

Ẽq(x, ξ, t) =

∫ 1

−1

�
β

∫ 1−|β|

−1+|β|

�
α δ(x− β − ξα)eq

A(β, α, t)
e#�P% *,*}f
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(x, ξ)
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t = 0
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h
q
V
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q
A

�)���&J
���2�@,�� � �P,��1���5��� �r�1���i�����8, �+�-�2�8,������ !�*����3�1*)�����2�3#�� K �	�)��#����-� � �]��� ���8�=� �+�-�),+4 ����#O�����P/	��� $ : ��� � �	�-J�� ���G���]&�����5�L�X��� �r���)�_�P*������������	� �)�i�)�

β
���������)��/	� ���>,_� �&]0�	�)�����-,N*����	�Q��� ��,N�3����L���,

α
���������)��/	� ���>,

� �&] �3���	���-, �������n�	�j���2��, ���5/��P,��5�����n�	���L�)�+���P�	e)� 0 �.f�% 0 �5�����cL>����� � �d�T����B��-�),+�����5�����8,T�+���P�@� �
BC���+�*� :

h
q
V (β, α, t = 0) = q(β)πb(β, α)

e#�P% * M f

h
q
A(β, α, t = 0) = ∆q(β)πb(β, α)

e#�P% *`'8f
�`<-� �����)�_���������5,N*)�k���;��� ��,+�����

q(β)
�),_�[G3!�* �1��� �-,N*

∆q(β)
% <��*� � K �	�O���3�	� � �+�	�����X�����3!O���	�)� � 0 �)L

2�� � �3�>,��3�P���P,N*P�2�S� ��#�#-����,��2�����	� 
;�3� @ ���>! 6S�2�"���3����� � 2 � :

πb(β, α) =
Γ(2b+ 2)

22b+1Γ2(b + 1)

[(1 − β)2 − α2]
b

(1 − β)2b+1

L ∫ 1−|β|

−1+|β|

�
απb(β, α) = 1.

e#�&%M* 28f
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ξ

�	��� �*;��d�)% �d�3���(�2�X�1�2�*�5,��
b → ∞ L

πb(β, α) → δ(α)
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ξ
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h

q
V = h

q �����
V + h

q �����
V

��� �i��]4�����	�1�3%�R>�)���	�2�@, ���2/��P,��2���P�
q 	 ��
 L q 8
� ! L ∆q 	 ��
 �), ∆q 8
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R>�)�U��� � �+*�� ��,��2���P�

(x, t)
�����}<��1�����	�)�8,?�	�)���)���8, �N�?�2�8,��)�U�2��� �	�)��������B��?�),�� ���+�;�	�pBC���+�*�F* �2�3��,�� K �	���

� �+*������8,N*)�d�������6� �S�����),��5��� *�%('P%M*3%�-��	�n�������*�24 ���P�2�P* �N���@,����p� �����P�����

Hq(x, ξ, t) = Hq(x, ξ, t = 0)F q
1 (t)/F q

1 (0)
e#�P% *}$�f

�5����*)�V�)�����3���L�)�8,d�	�
x

%+;r� �P����� ���+�d� �+# ���L�)�8,N�U�5���	� K �����8, K �	�@�2�1�	�5��, ���2/ �P,��5���", �N�3�P��<�� �+���S�	���
��� ��,+�����F�����-,n��*������P�����0�	�\��� ���dB �+�-�),��2���D�[G��2�����	�5���5���[LE�L�)���3�8,p�-�2�P���K�+�"!	� ���"!	� � �������P*������&J
���3�	� ������� B��-��,N�����2�+*��5���

(x, t)
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6��#�#���Lx�-�5����� K ���*�2�'�����P�	�5,��2���A��� � ��� �1�-J��k�3�&J $n���@,=L7��� �5���b� � K ��� ���1�
q(x)

x→1∼ (1 − x)ν LO�2���	��� K ���3�8,
F (t)

t→∞∼ 1/t(ν+1)/2 L�� ��#3#�4 �����8, � �3'"� :

h
q
V (β, α, t) = h

q
V (β, α, t = 0)β−α′

1(1−β)t e �P% * �8f

�21
α′

1
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�
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(,���
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H̃q � � � '�� � 
 � ' )�
-��� )�� +�� � ,'�-� '*)�
�
 /
; �����

H̃
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H
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gA

������� ���L��,F���3�n�[G(�3������� K �	� � ���	�S,�� ���1�
�@, �+��,N*)#�����% �?�3����� ��<-� �����2�3�����"���&��4���� K �	�p�����P���=<3����� �P,��1���2��* ��LP�����P���=<3�����;�����	�F�����2�

H̃q(x, ξ, t) = H̃q(x, ξ, t = 0)gq
A(t)/gq

A(0).
e#�P% * ��f
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Ẽ
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e
q
V (β, α, t) = h

q
V (β, α, t = 0)β−α′

2(1−β)t e#�P% * m f

Ẽq(x, ξ, t) = H̃q(x, ξ, t = 0)hq
A(t)/hq

A(0).
e#�P% * 
8f
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E
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e
q
V ����� �HGI* K ���a,��2�3� e#�&% �8fgLV�)��,?� ���+���h��*)#����5#�* �p���3�P�"� �

<�� �����5���b�	�?/��3�����	�?���3, �����1�Y��4 �1�3L>� �P�������5�1*������ � ���1B��-�),�� ���
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N

�)�����L�;�������k�7� �P<����P�����
<���� �X���3���6�HGI* K ���a,��2�3� eN*�% � 2>fg%
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R[�n� �����E����,Q����,�� �+�*�
D

����, ������, �����2�8, �\�2� �+*)#��2����<�
54�R^% 0 �h�1�?��*)<-� �5�������T���3�	�P���"�+* �����n�	�
�7��� @Y�����*���_�	� �P��#��)�Y/�� �	� �)L K �	�E�+���8,!�1���_BC���	�),��2���P�������������)���	�U�HGI* K ����,��2���1�[G(*�<���� �P,��5��� <�
54�R
�\�cG(� �+�����F�����*�2���3�8, :

D(z, t = 0) =
1

2
(1 − z2)

[

d1C
3/2
1 (z) + d3 C

3/2
3 (z) + d5C

3/2
5 (z) + · · ·

] e#�P% M�� f
R[�)���������*�������8,+�

di
���8,�*�,N*?*�<��-� ��*)���������������=�������?� �b�1�Y��4����;��� K ��� � 6�JV�+���1�5,N�3�L�"!	� �N�-� � � M � ������HGI* K ����,��2���je#�P% ��f>�),h�+���8,E�)��������,��5/	���)�o�=<�� �(����� �+*)� �	�-,.��,+�`�5�+� �P�h�	�i�=�-�1� �	�5�
� ��� ��*������ �[% 0 ��, �����P<��

K ���+� �m���3��/	�2���-�2�����q�2���`<�� ��,N�������������
Du − Dd �)��,\���3�1���a,��2/����b�=<-� � 	�* �+��LE��,\� �g�)����/	�5���-�5�+���

�2�+�3���=�?� �-� ���?���3���	� :

Du(z, t = 0) +Dd(z, t = 0) = (1 − z2)
[

−4.0C
3/2
1 (z) − 1.2C

3/2
3 (z) − 0.4C

3/2
5 (z) + · · ·

]

e#�P% M *}f
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���@,QB��-�),+�����5�+* � :

Dq(z, t) = Dq(z, t = 0)F q(t)
e#�P% M�M f

/(��� �+*)� �	�-,.��,+�X���8,Q*),N*F�3/P,��)� �P� �@�cG(*��"!	� �1���
µ = 0.6

�P�32�%PR �S��*)�V�)�����3��� �X�2��#8� ���5,B!��*� K �	�6���
µ���+�Y���	�-,!� � ��,.�?�2�	�)���5�	� � ��,��5, �P�	���Q� �P���	�2*)�L�)�8,.�-� �����)%

%�%'&�%�� � � + � '*) � �5� )�� + � � ��� )�
0��� �
R[�)�E���3�>, ���5/��P,��5�����
�	��,;:6�2�@,�J 'd�+���8,r���-��� �	�2*����\���3���E�cGZ�3�P���+�=]4�2�1��,��5���p�	�5,����	� $ �3��� 	 ���+�aJ $��1� 	 ��6
e $ $ f K �	�j�������S�=<3��������*!1B� �*���8,��5������*��3%����	�1���+*)�����8,N��,��5���[L
B��&,�Jd�����1���������j�-� ����Lx�	����,�� �"!&J
�	� K �	�)�^�L�)���3�8, �"� ��,+,��Q�������+�=]4�2�1��,��2���@�)��,�!�� �+�^���\�=�������X�	�!����, �+�`<��-�1�H%����	�X������� ���5�P,��5���0�-�2�P���
K �����	�)� �+*�BC* ���)�	� �)�?��� �P<-���8,FU), ���p, �+� �P<�*����?������� � � M �c% 3��3,+�����U�1� �[���)�����3,��5<���,��5�������E������� ��,+,��
�3�������`]4�5�j��,��2���q%xRo���������*�24 ���1� �+�`<������8,��	�����*��� �����)�B�)� � � ! �	�)�TBC���	��,��5�����p�	�j�@, � ���), � ���'�)�
�+�	�5�

g1

�),
g2

%
R �"BC���	�),��2��� �	�j�@, � ���), � ���+��� ���	�2� , �N������<-� �+���
g2

�)G(*�� ���5,@�)�����L� ���	�b�������L�
�	�n�	� �&]b,�� ���L�)��L����3�>,��cG ���Q�)��,��=�-�1� �	�2�3/	�1� �S��� �@,�� ���	�

g1

��� �!�2� ��� �2��,��5���	�	� $ $ L	��,��cGZ� �P, ���3L
BC���+�*� �1�����*���8,p�	�j,;:6�5��,@JO'PLK�2���	��� K �	�1������*������*���8,+���	�b�1��, �����������qG(���E* �+��,�� ���+�5�)���8,��)���3�8,S�	�)�
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 ��� *`'�


�)��� ��* �2��,��5����� K ��� �768JV#�� �P���&JO���>,�� K ��� �76 %7/(� K �	�Y�cG(�3� �3�P�V�������0�������+�=]4�2�1��,��2���D�	��$ $ �E�����
g2�)�������2��,�� �b��*�#-���2#-� �U�������������P� ,�� �+�*�3LV��� �	��#�� �+�	� � K �	�5���p,�� ���L�B�=�-�1� �	�2�3/	��� �b��� �@,�� ���	�
g1

%
R>�)� �+*)� �	�-,.��,+�i�g]&�7* ���2�*���8,N� �&]1�+���8,(����������,��2/	�1���_�=<�� ��� ��,+,��?�3�������`]4�5�j��,��2��� � � �YL � m �H% ��G(� �P, �����
���3,��5<���,��5�����^��� ���������8,�BC�������	���)����� �k�	�)��*�<3�?� ����,��2���P�k�	�

g2

� ��� �+*)���=� � � �	
��HL>���'�)�	��� ���d��� �(�1���
�5���	�1�=��,��2�������������Y��4 �1�F�	�����2���@,.�3�8,+�����Q����<4�5�	�n�	� � /W� � m � L m *8�H%	�?�3�P�����T���Y��4 �1�3L	�2��B��-�2/	�1�
�)���8, ���2/��P,��2���p���p,;:6�2��,@JO'Q��� � �N�3�P�7���@,\� �p,;:6�5��,�J M �����`<4�1���8,
�	�(�2�Q���),��5,����+�����	�8� �6���3�1���?� �5,+* � �	���
�5����,N�3�8,N���P��% � ���3�8,��-,.��,��5<-���*���8,=L>�1� �N�3���E���@,n�	���X�����8, ���2/ �P,��5�����F�	�0,;:6�2�@,�JO'�� �Y] �����8, ���2/ �P,��5�����
���n,;:6�5��,@J M ���@,��P������*n��� �

,;:6�2��,@JO'
,;:6�2��,@J M ∼

( ρ

R

)4

ln
( ρ

R

)2

≈ −2.71 × 10−2 e �P% M '8f

�21
ρ ≈ 1/3

BC� ���@,(�2�d,.�-�1�����k�1� @-�����	�;�	�)�8�5����,N�3�8,N���P�8��,
R ≈ 1

BC� �)��� �����+�E����� �P��� ���^�	�2�@,.�3��� �
� �P, �	�����1�?�1� @-�����	��%

%�%'&�% � � 
�
 � � 
 � / 
 ,3� '�� ,'�-
�'*)�
0� )�� � / 
 ��� � �	����� / � / � � 
 /
0 <��3�8,����1�����+��� � �Q� �+���3�PB �+���8,N��,��5��� �����p���+*)�	����,��2�3���n��� ���&�P4 ��� �&,����1�2��*0� �&] �����P��* �)��L �������
��*�� ���1�3���Q��� �����)�+�=� �+�-�),+* ���5��,�� K �	���	���p�2� <�� �+���2��� �	�b� � ���&�P4 �����7� ���+�"!�� K �	� ��; �T% �?�3���
�2� � �	�-,��3L!�5���+� K �	� �������Q���3�1��� ��� �������Q���)�������P���2/������-,N*)�b�	� ���3, ���D��/���� ��<��3/���� � �&] �	�-6q* ���)�>,����
�)���8, ���2/��P,��2���P� K �	�T���������7���&<������d� 1 ���@,�� �)LV���),�,��T<-� �����2�3�A�	� ��*)BC* ������� �����B� �0��� �+�3��*), ���2�+��,��5���
��� �+�1�3�P�V���2* � # �1�Y��4 �1�d�	�n/�������$N%

• H
�)��,E�5�1���2*��*���8,+* �����3���K� �X<�� �+���2���@�2�;��� ��� * �2�3/7� �+* �8�),I� �Q�	� �P� ��* � �)�8,�� : ���)�`�)��� ��* �2��,��5�����

(x, ξ)
�����8,X#�*)��* ��* ���W����� �@,�� �_�	�)�W� �d�)L	�),(���)�(��� � �+*�� ��,��2���P�

(x, t)
����� �@,�� �����	���Y��4 �1�;���

,;@&��� 
��)#�#���% R[�F,�� �+�*�
D

�[G�����,����3�6�5�	� � ���X���3���6�1�F�1�Y��4 �1�?�	�n/��3���3%

• H̃
���@,X�����5�������+���3�1�P,��3L�� ���P*������������	� �P�)�

t
����,�B��-�),+�����5�+* ���=� �(�����k�������P* ���X���2�+�E���	�5/	���)�

� ���
gA

�	�n�+���8,;���3�Q� �����N�3�8,��)��%
• E

�[G�����,n���3�P�2�	��� �����S���3���P�1�����&��4��������S/��3����L[*),N�3�8,n� ���P�����5�1*��S��� � ���DB��-��,�� ���
t/M2

N�������L�U�HG��2���	� K �	�P�HGI* K ����,��2��� eE*�% � 2>f�%

• Ẽ
�[G�����,n���3�"�2��� � �P���������2� K �[G�� �1���T�[GG�5�8,�� �@<������8,F���3�F���3���d���3, ������/���� �@<3��/	���@�)�����L�T�������

�7���&<������Q<��-� �X���3�P���1���X* K ����,��5�����TeN*�% � 2>f(��,TeN*�% ��$�fg%

� �	� 
 	����a� 	���
 � 
���	�� � �  	�� �"�)� ����
 � 	�� ���X���

�d�3���\� ��,+,������ �),��2���qL\�������5�)�����L�)� �����P�S��� �@�)���1��� ��� �5�����S� �+*������),��2���P����� �1�Y��4����b�	�	/��3���
�E�����

α = A(90◦)
��� BC���	�),��2���l��� |t| %��������Q�g]P���2���������Q����� �	�5,�� �HG��2��� �����	��� �������	�567* �����8,N�

��� �N�3��4), ���)� :
� .>yxzHy@v J�y
�Ot J��a{)�Ou(z��o��{gvc� t�ui��~`zcuZwZuZ��� �}{��a�E�@y
�Ot)��zcy��=zHyxy���zq��~}y@wi��~}yo�3y@~;{�|}~a�cuI���)wZ{���zcvH~a�Ozc~}vHy �`~ F=ui�`y �}{��a�

�OyKJ�t`�%'@wZy^vcy+�c�cyNJk|}wZyh�aw(~`z��gz ��~}� $a~auZ�`yk�AL uZ�a��zH{��)zHt��a�x��~ L ��~}�F�OvHui�CzV{gw��`yOz wZy\zcy�v)J�y��Ot(J��a{��@uIz �hy+�Czo~}zcuZw(ui� �_�a{gv
{g�a{�w(t)��uZy��



* 2 � � � ������������� ��� �	��
�� � � ��� � � ����� ��� 
 � �
� � 
��

*�%6���)�!�����8, ���2/��&,��2�3���X�	�F,;:6�2�@,�JO'�,�� ���1��� K �[GI*)<��-� ��* �)���������6�HG(�3�������`]4�5�j��,��2����$ $ &
M %6���)��<3�?��� � �+�6�"!����5�����)�X�7� ���

b 	 ��
 ��, b �
� ! &
'P%6�HG��2�	��� �����2���j���",�� ���L�

D
%

�������?�`<3�����?*)#8�-�1���*���8,"�g]P���2����*��[G(� �P, �����d�7�������5/	���1�5,N*)� K ���S���������	������*����)�8,N�����n�����U���D�P*),.�?���
��� �cL8���3,N�3�1�*���8,8���)�3�����8, ���2/��&,��2�3���k���

H̃
�),
E

%��U�2�P���HL/�2�p� ���������������2�3�b�	�
H̃

���3�P�(���Q���&�P4 ���Q�	�
/��3���k���+�`<3� K �	�������E�"!�����#����*���8,+�\�	�(�cG(� �+�����k�����7��� ��� �)�8,=L-�5����*)�V�)�����3�8,N�
�	�

t
�1�-�5�`�5*�#�4 �����*���8,

�	� ���\<��5���2/��������F#��+�3���
xB

L��������*�X�������������P��@S��,+,��������3���3�����PBC� �+��*��*���8, �X�cG(* K ����,��5���"eN*3%
	 28f�%
�������
�=<����P�h*�#��-���)�L�)�>,K�5�	� � ���

E
���3�P�`�1�_���Y��4 �1�_���k/��������E�����[�"!	� ���"!	� � ���	�k���)�����5/	���1�5,N*���� ��,+,��

�
� ��%PR[�)��<�� ���2��,��5�����_��/P,��)� �	���Q�+�3�>,��	�P�HGI���+� ���d� �	�7��� ��� �)�8,=L��1�-�2�_��� �P<-���8,���,+,�� �2�P����� * ��� �
#��N�3�P�

t
%[R �	����* ���2���5��� �	�S�����n���3����* �)��Lx����,.�3���L�)�8,#�b#��N�3�P�

t
Lx���S�������n��� �+�*�),N�������������3�8,

���3�Q�	�N������� � � ���#� ���	�p�3��* ���5���N�a,��2�3�j�������&��4�����%

��% � %(& ������������������� �
90◦

�� �"!� $#%�&��!' )(*� |t| %
R �F!�#�� ��� �&% M �����P��,��-, �	�;���3, ��� �+*)� �	�-,.��,k�����5�	� �5���-�c%,<r���1�;�����8, ��� K �	�����)�k� �+*������),��2���P�k���1�1�Y��4����
�	�b/��3���	�+���8,5�)� �-� �)���+� �+�-�2���������3/����b�=<-� �+���)�������P��* �)��% �;�3,.�3���*���8,=LK���L�"!��3��#��)�L�)�8,0�	�+� �
�V�)�>,��N���

t
�5���+� K �	� xB

� ��#��*���8,��P�)��,Q/	�1��� ���)���+�Y���	�-,=%+�
t

�����4�"!	�F���
t � �-, L	�1�?���&��4������	�n/��3���

� ��������,��2�*�F��*=�����1�-�2���!�1���;�3�>@Y��*), �����)��%

;�3����� �5����� K �	�(�2�Q<�� ��� �3/	�1�

xB

���3��� ���3, ��� ��*=�-��,��5��� ���/.�4�,��i� �X<3� ��� ��/	���
ξ
L ��,E�1�8�1���)�]�)�>, �����1���

�	� �&]g���@,?���3����*���� �U�HGI* K ���a,��2�3� eE*�%i$ *}f�% ��*��3�������2���)Lx������* K ����,��2���P�SeN*3% m � f � eN*�% m8M fX�1�3�>, ���)�>,
K ��� x = ξ

�7��� �\���3, ������/P��� �@<��3/	����%0�U�5�����cL?�2��!�#�� �����P% M �2����� K �	� K �	�6�1�����&��4����'1 �2� ����� �+�Y���	�5,
�	�jB����)��� �N�a,��2�@B��-�2�+�3�8,��*���)�@����� �+*�� ��,��2�����

(x, t)
% �����P�����+*)���)�>,�� �������S���3�P�@� �"��� ��,��5��� �P%('P% M �����

�+*�� �	�5,N��,N�X� �+*����5,N�Q�E�����!�2�0� ! @Y��� K �	�p���3���6���F��� �3�	, �+�3���@<�� ������%
�d�V���@,;�3�+���43F� � �+���������3�8, K �	�"�cGZ�?� ��� �+�+���8, ���"�1�d���&��4������),!�1�����P������*����X��G(�3��* �1�2�������5���+� K ��� t� ��#��*���8,���%[R>���F��� �N�3��4), ���)�

α1
��,
α2

���8,F*�,N*0�65 �P��,N*)�F���5� �	�5,N�3��*)�L�)�>,�L0�b��� ��,�� �d�����F�����P��* �)�
� ���6���)��B��-�),�� ���������nBC� �+�*���

GE
��,
GM

�	�27P�-�"!�� :

GE(t) = F1(t) +
t

4M2
N

F2(t),
e#�P% M 2>f

GM(t) = F1(t) + F2(t).
e#�P% M $�f

��!�� �[G(�3/P,��)�	� �*���)�1�+�`<-� �����
u

�),
d

�	� K ��� �98Y�)Li�cGZ�:5 ����,����*���8,'�)��, �+*=�?���2��*��7��� �L�1�"� �+�3,+���o��,
�����	� �P, �����[%xR>�)�F�	� ���d#��N�3�P�	���P�5�	� � ��,��-, �������P��]&�E* ���2�*���8,.�-�1���?�����8,N� �������)�?���DB��-��,�� � �?�	��BC�����L�
* �����), ��� K �	����� �	� �P, �����[L^���3,N�3���L�)�>,\�)� �����+���������	� −t = 0.5

� �;1 2 %K�U�"�	� ���)Lr�HG(�3���+��,<3	�	�

��)#�#��1e#�P% * �8f K �	�T������� �P,��1���5�+�����Q�0*),+*����3,��-<�*��p��� �6���N�������E����,����*���8, ��#��+�3���

t
eC<3��� �
=>	3'@? f�%

/(���;�	� �&]	* ���)�L�)�8,N�6�2�8,�� ��<����)���	�)�>,;���������1�?��*)�N�-��������� K �	�p�������Q��/���� �@<������ �0�V��,��5,
t
%
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* 2 M ��� ������������� ��� �	��
�� � � ��� � � ����� ��� 
 � �
� � 
��
��% � %�� �  ����$�� *# ��� ($��� (*���2� ���� �&� �  � ����(*���� �&� (	� ��! ( ��
��
��
�������
����������������! "�#�����$�&%(')�*��+&,
R �T�.-��)�L�54�-����1�Y�	�-!O�=��,��2���1�0/	���&�P4 ���;�	�F/������ K /	�F���0/����	�5����/&,N�����(����,6�cGG�5�	� �1/����5�����./b,;:6�2�@,�JO'
���3���`�HG(�3���.-��`]4�5�j��,��2���n�	�-,��_�	� $ $ %�Ro��!�#�/2-�� �&%Z';�1���8,3-��(�1���72?�.-����*����-��`�5�8,���-@<��-���1���[���

t
�E��/.-

0.3 < xB < 0.4
�),

2 < Q2 < 2.5
� �;1 2 !P]&*)��% R>���N����/2-+/����X��� ,4-N�?�5,N�F����� �5���P���0-3-��)�+�E�����	�)�8,

,N��/@5��0/.-+�Q�0/"���&��4����?���p/��3����LO�����6�)��/.-+/����Q�E���2�8,������5* �)�5-+*)�3/	�-,��)�>,��	�N�HG��2��� �6/P���2�3�b�./�,;:6�2��,@JO'P%
���dB������3�j�3/2-+�.-������3�8,��3L	�2�X�)���8,4-��5/./P,��2���1�./j,;:6�2�@,�J 'T�[G����@,X���3�k��*�#��1�2#����3/	�1����,��"!�����#��d���2#����-J

!O�=��,��5<-���*���8,I�2��BC��-+�*�^�	���
�3�N@&��*),3-��1���[���pBC���	�),��2���n�	�
φ
�;#0-N�3���

t
L`�*�����3�8,
���3���o�	�1/����1��/.-��o/	�2���

e K /	�;����/��_�	�;�.-+*)�����8,+������������,+��/��8����� f-�7/��	���2�	�)���1����,��5/	���1�5,N* K /��-�1�5,.�a,��5<-�Q�=<�� �����)��BC�0-+�*������/&J
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�2/ K / U ��� U � !��3,N�3� U � <3�2� U � U �+�0-�,3� U;U ��,0< �6-@,4/ U � U ,��.-��&�./"�5,�/�� U ��� �6- U � U � U �P,+�����)L^� U -+� U ,
�qG U ]P�"�2��- U -6���������54), U � U �8,6� U ,�, U �3/2-�B��-� U %

r ��� $a�au(y\�a{�v
x = ξ
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� �2#�/2- U �P%�� : Hu(x, ξ, t = 0)
�����
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	 ��� 	NQ b ����� = b ���	� = 1 	

� �3D � � Q � � � � � � � � �
	
���

	 D � ��T � � 	
	
E � � ��� � 	 �
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� ��� � ��� � � ��� � � � � ��� * 2 	
��% ��%�� � ! �+�+��
�� �&��!� *�

(x, t)
R U ��,4-N�=<��0/&] -+*�� U �8,+��� U � /.- 8a�0-��P, =+* 2 ?x���8,X� U -�� �5��� U ���3��� U - /P�"� U ���Q�9!A@Y��� K / U �0/&]+�)��-3-�* �2�aJ
,��2���P�

(x, t)
% ���0/��X�=<����P����* �9-��-,�������� �2�T� U �),��2��� *3%Z'P%32 �2�T�9!A@Y��� K / U � U � U ��� �3��,4-+�3����< U -�� U �2���3/ U

� U � U �n,4-+�`<��0/Y]q% 
 U �.- U ���������HGI* K /���,��2��� eE*�%('�
8f�L U ,��2���7�3�+�����
ξ = 0

% �;��/��p�3/E��/P,3�5�+�������p���2�0-+�
�
q(x,~b⊥)

L0� �����5��,4-
�2/./&,3�2�3� � U � K /��0-98>���7�0-�,.���>, /�� U B -N�-��,3�5��� �qG �5�1�./"�2���5���
x

�3/.-�� U � ��� U � U
�1/����24�- U L � /P� U �7���
�5,��2��� ~b⊥ ���3����� U �"� �3�	,4-+�3���@< U -�� U :

q(x,~b⊥) = 〈p+
2 |

∫ �
λ

2π
e−ıλxΨ̄q(−λn

2
,~b⊥)γ+Ψ(

λn

2
,~b⊥)|p+

1 〉
e �P% M �8f

=

∫ � 2~∆⊥
(2π)2

eı~∆⊥·~b⊥H q

(

x, ξ = 0,−
∣

∣

∣

~∆⊥

∣

∣

∣

2
) e �P% M 	�f

� � U ��,"�E���+�
�2/�� U � U �=� ����/"� U -b�3����� @Y,�� K / U � U �>,'� U ,�, U ���5��,4-
�2/./&,3�2�3� ���3��������,4- U ���Y��4 � U %��;��/��
,3-+��/&<����������5��-+� :

q(x,~b⊥) = q(x)
1

4πα1(1 − x)
�2�

(1/x)
e
− b2

⊥

4πα1(1−x) � � (1/x)
e �P% M3m f

/ U ,+, U ���2�@,4-
�2/./P,��2��� U �@, �!�5�6/��@,4-�* U ���0- � �p!�#�/.- U �P%
	Y%�7 � � �p��* �9-+�2�5�+�+�3�	� U �2��-�� K / U x �0/P#�� U �8, U	U ��,U �+� U �8,3� U �!� U � U �8,?�2/ U �0/�B��-�), U /.-
q(x)

L � U -+*)�3/��-,.��,4�2���7�0-�,.���>,X< �5���2/"� U �3/.-�� U ,�, U !�#�/.- U U �@,�/�� U
�P* ��-��2�2���N�3��� U � U �2��,.���5�!� U ,3-N�3���@< U -+� U �./S��/	���2*)��� U ��BC���	��,3�5���S� U

x
%0�4�2���
�HL � U � K /��0- 8>�^� U �2�d� U -

eI�d� U ,3�-,
x

f �+���8,^�.-�*�� U �8,N�����2���E*�-
�2�9!�*9-�� U e���/���# U � U ���2���P�.f�L����5��-+� K / U � U � K /��0-98>�^� U <���� U �	� U � U
,3-+��/&< U �8, U ��� U �8,�� U �5� U � U �>,k�0/*���7/.-_�./���/	� �5*����[% �?����� �2� �!�5� �-, U

x→ 1
L �HG U ]Y, U �����5����,3-N�3�P��< U -+� U

�)GZ������/�� U : /P� K /��0-98p�E��-@,.�3�8, ,N��/P, U �cG �5�1�2/��2�
�2���?�2/��.-+��,N���p� U ,4-+�0/P< U ��* � U �+�+���6- U � U �8,^�!/B� U �8,4- U
� U �1�3��� U ���3����� U ��� �3�	,3-N�3���@< U -+� U %

�(�2#�/.- U �P% 	 : R � ����� � ����� � � � u(x,~b⊥)
�����
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Ro�X�"!.-+�����Y� @Y���3��� K / U K /��3�8,3� K / U ��*���-��-, U �b�.-
�2�	���2� U � U B����)��� U ]��?�), U � U �+� U ��,4- U � U � !��3�.-������
�3/�� U -�<�*)��L � U /.-0�@,4-3/��),4/2- U�U , �2� � @Y�1�3��� K / U � U � U /.-+���2�8, U -N�-��,3�5������%_R U BC��-+�1���!�5�+� U � U � ���5�@J
,3-��5/./P,3�5������� U � �0-@,N���P� � *)��*�-+���!�5�+* U �?� U -+� U ,?� U ��* �9-��1- U � U � -+*��-�),��2���P� U ]4� �1/����-< U �p�2/.- U �F���3���
�2�
�!�5� �-, U � U ��5���- 8 U �[L U , /����-! U � U �b���-6q*9- U �>, U ���3�P�.-+���"! U � !"�2��,+��-�� K / U �	�!/l�.-+��/"�24�� U � U � �
�@,4-</	�),3/.- U � U �'!��3�.-�������% ��� U �)���������5�+�+�3�	� U � U ,+��/P, U � � U � � � ���F�./ �.-+�3,+���[L7�7��/2-?,N��/P, U � � U �
�+�=< U /2-+��� U K /��!- 8>� U ,_�7��/2-�� U �^#2�1/������)L8����/���� U -�� U ,+,4-+���5,\� U �=���1��/�� U - � U ���1��� U �8,+�^�./�, U ��� U /.-
*)� U -�#2� U J �5�1�./"�2���5���?� U �h���!-�,N�3����L}���5����� K / U �[G U ]Y,4-+���6- U /P� U B U ��,N�aJ �9!���,N��#�-+�3�9!�� U �./T�.-+�3,+���p���3���
� U �Q���-6q*9- U �8, U �6�����&!�#�/.-+��,3�5�����X�E���+�
�2/�� U �X�[GI*),N��,N�;� U �+���5���./��2-+�3,+��� U ,;� U �Q���!-�,N�3����%

R^G U ]Y,4-+�-�),��2���0� U � � � �d� �?���0-@,3�6-h� U �������P��* U �8�)�����@,3�5,3/ U /��0<��3��, U �.-+��#0-N�3��� U U ]&�E*�-��5� U �&J
,N���HL���* � U �����5,N�3�8,��HGI*),4/P� U � U ���1/���� U /.-���-+*��-�),��2�����^�E��/.-h�+*����0- U -�� U �E�)���8,4-
�2/./P,��2���P�\� U �����-6q*9- U �>, U �
�+�=< U /2-+�F� U K /��!- 8>� U ,d� U �d#2�6/��3����L �.-��4�)*����3�8,F���0-	/��A�65</���, U � U �8,F#2�5��/����x�</.-d,+��/P, U ��� U �d�P���&J
�P* U �_���5�+�E�����2/"� U �)%,�?�����3� U ,4-+�`<����5�HL�����/��_�=<����P��BC�0/.-+����� U ���.- U � �54�- U �r���3�>,3-N���5�8, U ���</.- /���<��3�@, U
U �+���?� U � U �9!��3� U L^� U ���
�2/�� U �0�.-��5�	� �5����� U � U �8,1� � � � � �

H
%^R U �1�Y��4�� U � U � � �d� K / U ����/��

�=<3����� /P,��!�!�5�+*p�.-+�0/P< U K /[G �!� U ��,"�=�3����/�� U � � �1BC�2�5�d� U BC��/.-+�"�6-	/P�D/7��� �?� ���0-+� K /����5�5,.�a,3�5B U � - U J
�2-+�Y�./��2�+�3�8,�� U �;BC��-+� U � U ,�� U /.-+�;, U �P���3�	� U ��Lq���2�P��� K /[G /P�D�-� �)��-+� K /��3�8,3�5,N��,3�-B�-+���2���������3/"� U �=< U �
� U �k��������* U �)%�Ro��� �5� U�U � �7/P<�- U � U � U ���Y��4 � U �E��/.- U ]Y,4-+���6- U � U � �2�PBC��-��j�a,3�2�3�����9!A@&�
� K / U �X�3/.-
�2�F��,4-</	�),3/.- U �./��.-��3,N�����36 - U � U �k� U -��+� U ��,3�5< U � U �	�)��/.-+�3# U ���>, U �)LY�@,3�5�X/�� ���>,�� �P�����8,��2��/���,��2���S�./
�2-+��#�-+�3��� U �qG U ]&,3-N�-��,3�5����#2�2��/����H%

R U �o, U �"!���� K / U �\�[G(�3��� �M@Y� U � U �
���3����* U �h�E��/.- U ]Y,3-N���1- U � U ,+, U ��/�� U -@<3��/�� U -+*)�7���P� U �8,
� U B�� �����
�+��,3�5��B����5�N�3�8, U �0/&] �����L�9/��5,+*��n� U �+�0/���,3-N�-��,3�2�3� � U /.-</��5,p� U BC���P�[Lo�3�+�</.-N���>,����5����� �cG U ]����6/��
�5< �5,+*
� U �2��-+*=�?�),3�5���[%��;��� U -<- U /2-+�;�+���8,;�������2��* U �Q���0- �2�S��,.�a,3�2�@,3� K / U ���2���7���"�2/�� U %�R U ��� U -@BC��-+�1�3�	� U �
� U �?���0/P< U �0/&] * K /��2� U � U �8,+�"�����P��,4-</��5,+�d�E��/.-d�-� �)*�� U -'�L� U ,+, U � U �3/2- U �3�>,d*),+*��N��,��2�@B����2�+�3�8, U �)%
/ U /&]>Jd��� � U -����8,�-�*�/P,��!�5�2�+*)�X���3���Q���1/���� U /.-�� U ]&�E*�-�� U �	� U � �S< U ���1-�%

� ��/.-n, U -�� �5� U -P�)�������24�, U � U �8,X� U ,4-+�=<3� �!�HL �!�^� U -N����*�� U ���N���1- U �[G(*�<����6/ U - � U � U -3- U /.-+�p�>@Y�@,N*�J
�1��,�� K / U �0/��5� ���0-1/"�2�[Lr�)���1� U �2�P��� K /�*"���3����� �D� U �),��2��� $&% m % M %���� �:5</���, U � U �8,j#��2��/�� �X� U �
���0-N�3��4),3- U �;� U �;�1�Y��4 � U �X�</.-X,N��/P, U ��� U �;�P������* U �;� U <�-N� /P,��!�!�5� U -�������� U �7�2�5����� U � U -3- U /.-�� U �@J
,��2��* U �
�.-�* ���2�+*)� U �8,\���3�P�E�"!�� K / U /"�2�[%=<\< U �>,3/ U �5� U � U �>,�L?� U �\�E�2�5���
� U <�-+���8,^*)#8��� U � U �8,h�2- U �P�.- UU �m���3�1�P, U � U �

χ2 � U �������65</���, U � U �8,F�=< U ���2�SBC�0-+� U eE*�% m 
8f�%%7 �o���0/��?�=<��3����<3*�-��-!�* �2� K /�� �!�5,+*
� U �;�65</��@, U � U �8,+� �S���3�;�P������* U �Q/��2�����!-�/��2�����!- /�� U ]P�3� U �	< �2�3/ U �x�>@Y�@,N*��1��,�� K / U � U �X!�,+� U ,
� U �Q<3� � U /2-+�X� U �

χ2 �3�+���4���2* U ��L����0/��Q� U � U �Q�=<3�����;���3� /P,3�5�!�5�+*������0-�� ���</��5, U %
R U � �5*�# U -+�b��*��=���2�3# U � K / U ����/����=<��3������/�� U -�<3*��"���3���	���3�	�����)� U ]4� �1/����-BC� e U , K / U ����/��

�=<3������� U �8,3�5������*)����������� �"� U �),3�5��� $&%('8fF�[GI���8,S���3� U �	�)��- U *�,N*'�)�������24�, U � U �8,]�������.-
�2� �g� U
5��0/.-�% / U �d�.-+��/"�24�� U ���7�0/.-3-+��� U �>,;�.-��`< U �"�6-d�qG /��D�1�0/P<����5�;���!�5#�� U � U �8,;� U �d�+�0/��@JV��*), U �), U /.-�� U ,
�2/1���2�2*)�����V� U L���/�� U �HG(���5#���-��-,G!�� U � U - U �)�����@,4-3/��),3�5���1�3�����5� K /�* � � �?�</�� U -+�E�����-,3�5���0� U �3�"!��3�����
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�./ ,N�0- U$U ,	�./ ���2�2*)�����H� U L_��/ U �	����- U � U � �n�����!�5/.-N�a,3�2�3� �2/ �=���5��-��5�14�,4- U �N/d% � �2�1�7��/2-3-N� � U �8,
�`<3�2�6-j� U ��� U ,3�-,N� U 6 U ,N���>@Y�@,N*��1��,�� K / U �	�</.- � U �j<���� U /.-+�	��� @ U �P� U ��� U ��<��0-
� �3/"� U �

xB
L
Q2 L

tU ,
φ

���3���*�"!�� K / U �2�8, U -�<����5� U % � � U � K / U � U � U 6 U ,+�1���2� U �>,��.-���/��3/"� U � U �8, �5�PBC*�-
� U /2-+�0�0/&] -�*�J
�+�2�1/P,3�5�����\����-<- U �+�E�������3�8, U ��L �!�X� U -N���-,1BC�0-�, U � U �8,b�+�0/9!����-,.�3/�� U �[G U � ���3�1�.- U ���2- U �cG(�0-��2#��2� U L\���
�7�������5/�� U �[G �2�����2*)� U �>, U -Q� U �"����-<- U �),3�5�����)L U ,F�0/A���2�5���Q�[GZ�=<3�2�6-�/�� U=U ��,��2�1��,3�5����� U �?�E���+�
�2/�� U �
U 6 U ,N�k�>@Y��,+*��1��,3� K / U � K /"�7� U /P< U �8, U � -+*)�3/��-, U -��=<��3�8,�� U �./�/"�!� U -���*)!��"�5,3�-< U � U �>,k�����8-+*)�3/��-,.��,+��%
<^�P!��[L /�� U �0/&,4- U �3�1*��!�5��-N��,��2��� �E���+�
�2/�� U �E��/.- � � � U �)����� U ���!-�,3� U � U �.-
�2� U � U �����P��* U �

� U -+���5, � � �3/"�5<��3�8, U % ����/P�"*�,3�5����� �5�2���5,N*)� U � �1/����2�����
�5,+*����3� ���0- � U ,N�0/&] �[GZ�?� K /��2�
�5,��2��� �0/
� U , U �1�P�	�1��-@,=L��1���5�b���0- � U /.-3/��-,	� U BC����� ������� � U �Q�"!�����/.- U ��� �P*�-��-< U � U � � -�*�#2�5��� *�%
R�G(�65���/&,Q�[G /P��/��5�2�����3# U ���0- /P� U B U /��5�!� U �1*�,.���5�!� K / U �3�+� U 3n!�� U , U ���./ U U �8,3- U � U ���2�2*)�����V� U U ,�� U
�=���5��-��5�14�,4- U �N/ �7�0/.-3-+���5, �5�2���5, U -h�
�2#��"�5!O����,3�-< U � U �8,3� U /.-</��5,�� U BC���P�1�+�3���_�7��/2-k�!/P,.�3�8,k���-,N*�- U -
� U �����0-@,3���9/�� U ���2-+�Y�./��5, U �;���3���d���3,4- U -�*=�-��,3�5���[% ���m�)���1�2-+�����2� U �8,3- U �cG U �*�=�-���5,N*T�./A/��5�2�����3# U
U ,��+�3� �5�+. / U �	� U �3/2-��2��-+*)�+�2�1/P,3�5���0��/P, U ��/ U ���2�5,\U),4- U *),4/P���2*Q���0-^�
�2�X/"� ��,��2�����
�7�0/.-^��*), U -�� �5� U -
� ��/E����� U *������2��� U /2- U ,�� �5�������E�����-,3�2�3�b� U � U ,+, U B U /��!�5� U ��*),N���!�5� K / U %

�;��/��_�7�0/.-3-
�2������*)#8��� U � U �8,k*�,4/��"� U -�� U ��<3�!-�� �a,3�2�3���\� U �5-+*)�3/��-,.��,+���3/.-��HG(�3�>@Y��*),3-�� U �5��-+� K /[G(�3�
�HGI*)<����6/ U ���0-
�qGZ�0/&,4- U � , U �"!��"� K / U �)L�, U �!� U � K / U � U �5� U � U �
�1�3� U �>,+�
���0-�-N�3���E��-@,-�

sin φ
e /�� U , U �"!&J

��� K / U �3�����&,N* U ���3�P� = M3m ? f�% � � U � U �8, U ���./[L(� U �7-�*��3/"�5,.�a,N�p��/P, U ��/������!-T���-6q*9- U �>, U �p, U �"!P��� K / U �
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